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Read the following instructions carefully before you begin to answer the questions.

Il
12.

IMPORTANT INSTRUCTIONS
This Booklet has a cover ( this page ) which should not be opened Ul the invigilator gives signal to
open it ol the commencement of e examination. As soon as the signal is received you should tear
the right side of the booklet cover carefully to open the booklet. Then proceed to answer the
questions.
This Question Booklcl contains 200 questions.
Answcer all questions. All gqucstions carry equal marks.
You must write your Regisler Number in the space provided on the top right side of this page. Do
not write anything etse on the Question Booklet,
An Answer Sheet will be supplicd to you scparately by the Invigllator to mark the answers. You
must write your Name, Register No.. Question Bouoklet 81 No. and other particulars on side 1 of the
Answer Shect provided, falting which your Answer Sheet will not be evaluated.
You will also encode your Register Number, Subject Code, Question Booklet Sl No. eic.. with Blue
or Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet, If you do not
encode properly or fail to encode the above information, your Answer Sheet will not be evaluated.
Each question comprises four responses (A), (B), {C] and {D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are mere than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each guestion. Your tolal marks will depend on the number of correct responses marked by you
iri the Answer Sheet.
In the Answer Sheet there are four brackets | Al | B 1| C ] and | D ] against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each qguestion. Select one response for each question In the GQuestion Booklel and mark in the
Answer Sheet. It you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, (B} is the corrcct answer, you have 10 mark as follows :

Al C1D)

You should not remove or tear off any sheet from this Question Boonklet. You are not allowed to take
this Queston Booklet and the Answer Sheet out of the Examination Hall during the examination,
After the examination is concluded, you must hand over your Answer Sheet 1o the Invigllator. You
are allowed to take the Question Booklet with you only after the Examination is over.

Failure to comply with any of the above instructions will render you ltable to such action or penalty
as the Commisston may decide at their discretion.

In all matters and in cases of doubt, the English Version Is final.

Do not tick-mark or mark the answer in the Question Booklet.
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Match List I correctly with List I and select your answer using the codes given

List I
Cellulose-glucan
Chitin-Chitosan
Mannan-glhucan

Chitin-glucan

b c d
3 4 1
1 2 3
4 3 2
| 2 3.

gyevufgileheveiv emmeni

SenmervGuomg GurGumgm SlyrdlCay D)

Sex hormone 'Sirenin’ is secreted by

Aspergillus niger

bhelow :

a)

b)

c)

d)

Codes :

a

A) 2

-~ @ﬂ 4

C) |

D) 4

2.

A)
C)
A)
C)

Plasmodiophora brasicae

I

# "‘I
\\ff)‘j
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List II
Zygomycetes
Saccharomycetaceae

Basidiomycetes

Oomycetes.

uréy aoriGuores ‘earailen @hs LEhsmslies Hr&HSng

Sy Covmenwdev CusCymrensereu

CeLyrmGlevdathur Cuyandg &ir.

Allormyces macrogynus

Saprolegnia parasitica.
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3. ulgue I uigue Ia e sflurel Qur@sdls Spés GBOloN Gerer @illHeasile
Syguiuentilen sflures el amwg Coiey Glews :

Ul igweés I ugquen IT
a) Qur_Hé smerTes 1. wrigedreur ereivg Gevedriir
b)  Guryéen 2. yerflsey souevCuryey
c) U BHTes SmemTes 3. GaQamensGu @leng sm
d) LITGY 8T 6T 65T 4.  suevGeufluevevm sueh GendlGu.

A) 3 2 1 4
B) 2 1 4 3
C) 1 3 2 4
D) 4 2 3 1

Match List X correctly with List H and select your answer using the codes given

helow :
List I List II
a)  Button Mushroom 1. Morchella esculenta
b)  Morels 2. Agaricus bisporus
c)  Straw mushroom 3. Calocybe indica
d) Milky mushroom 4, Volvariella volvaceae.
Codes :

[614]
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4. ulgué I ulgue e cear sflursy Quresdls Sps enlull Gerer eillGeefss

g e e aflurer il eows Carey Qeus :

a)
b}
c)
d)
GBlBser :
| a
A) 2
B 3
C) 1
D) 4

g uée I

Slerrm ssetvellm 19 everoGmgm

<y elpShum asir o e

owliyy auiflesth Glomrestieflumiil]

06 Goumena G GlodedlsmeorT

1

3

2.

Uil igwes IT
el GLrenaesilet
aneBaureng ledr
B-aGryiriig et

e GuriGerallest.

Match List I correctly with List IT and select your answer using the codes given

below :
a}

b)

c)

d)
Codes :
a

A) 2
W\ s
C) 1
D) 4

Blackeslea trispora
Ashhya gossyple
Fusarictum moniliforme

Psilocybe mexicana

List I

| 614 |

List II
Cytokinin
Psilocybin

B-Carotene

Riboflavin.
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5. oyevsdle srgnib Epssads L Qeudsaeans amnsHe Cermn® Naraumn el
allem_wefl&aeyDd

I walisFiller spvadlar seursmer Godensd sarse
. Qeusfleuhs semar evCurisen ssable drausgdle flglug
I evmen svGunit sgdheamen 2 sieumndl (WpHITeasen_gen.
Bleunmjen ergy / eremeus @il 2
A Il B) Il @b
C) [ D) I, 1T wihmyd 111
Consider the following actions of ascus :
1. At maturity the walls of the ascus dissolves.
II.  The liberated ascospores float in the nourishing [uids.
[II.  The ascospores absorb nutrition and mature.
Which one of the following‘is correct ?
A) I and II only B} I1 only

C) landIll only \_wﬂ I Il and 111,

6. utgwd I & ulgué IE o e sfluresd QUIESSS Fod GOUOIL Eerer Bl setlss
<pg luene ilew sfluren allenenws Coiey Calis :

pulgwen I ulgwe I
a)  2_eufliy eRminl 1. Brevmé
b) @L’unﬂrﬂ 2. ueGurdlGL
c) sl (Hesoren 3. Qevredusveur
d) Qerbos sreurd 4. dlucuyymen.
solipser :
a b c d
A) 1 3 4 2
B 3 1 4 2
C) 2 3 1 4
D) 4 3 2 1

[ 614 ]



Match List I correctly with List II and select your answer using Lthe codes given

below :
List I List I
a) Halophyte | 1. Nostoc
b)  Symbiotic 2. Bulbochaete
c) Parasite 3.  Dunaliella
d) Epiphyle q. Cephaleuros.
Codes :
a b c d
A) 1 3 4 2
B\ 3 1 4 2

C) 2 3 1 4

D) 4 3 2 1

FpeHTEmID gomeeis, ahesd gopows enins LTflas salllder GUGUHmEs
evGuriest eped @eriiGumesd Qaludloeme
A) e GLrGur Gy evey B) &rGreve

Q) GlgymblGueveh D) Oy Geduen.

In which of the following orders none of their members reproduce by asexual

spores 7

A
A)  Cladophorales \BJ | Charales

C)  Ceramiales D)  Fucales.
SPp&aTanuamanalls GQlac sanme Lysvlymead Careaa@eieng g 1
A) er &L T ST LIL6hy B)  mmevirmd
C) UerguCouflum D) urellens@umetiwrm.
Which of the following consists of a cell wall called frustule ?
A) Eclocarpus | B) Nostoec
\b(,?'iﬂ'! Pinnularia D) Polysiphonia.

| GTﬂ [ Turn over
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9.

10.

11.

dleutiy Hipun flest So&eran s abs CuIpaer shse Lo Qurparss Geldss
E'.-.-:a;-fh-‘.ﬂ&'b‘ﬂj)@ ?

A} oytdlenare whmId SjeuLmiligé oy E
B} yenmifligwes el imig

C;  Geublamrilesr whmwn Guefl L mev

D) Qeriy whnb eredn @ e,

Which of the following is / are the reserved food malterials stored by the
mermnbers red algae ?

A} Arginine and Aspartic acid “JFj| Floridean starch

C)  Larninarin and manitol D)  Fat and oil.

Fpsargnid Qeidlselle sflureeaney eremeu 2

A)  GurGireudller uisubsdle meas&ETLRSE ApEin PIDTE HHEEHU
SMER, T

B) VCurmemudlCw uvdswhsale oeuhons &oHn odislugurer uésw
arerGLmifenmeavble QUL ig&@erd 2 ararg

C)  swCarmeudldler vssubselle agassrufes oaCor@ pan Cejrg
seotI& 6 dleipes

D)  @lemGrranudlasiles i@ SpmwdsloUBD LSFFLRGET @)amen.

Which of the following statements is correct ?

A) Plastids of Rhodophyceae have thylakoids stacked in three's.

\_I}“]ﬂ“H Plastids of Phaeophyceae have chloroplast endoplasmic reticulum.

L]

C) Cyaneophycean members have plastids in which the thylakoids are free

from each other.
D)  Chlorophycean members do nol have organized plastids.
SiealUT enauses BHTeauedla Gl 2 Lae GleUsTn SempHHeTD.
A Qufldgfiun B)  euCurddlun
C) Qg Qurear D) =yeu@aramii.
The fruiting body of Usnea lichen thallus is
A) Perithecium 13 Apothecium

Q) Basidiocarp D)  Ascocarp.

| 614
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14, ulgué I ulgque e e sflural Qurmpsdls dpé @l Meter @BllHs e

SpgLiueL e sflurer oflormwug Cairea) Qals :

ugue I uligwes I
a) @élgwr 1. snermetaen
b)  GudgCuramrir 2. osuBamesind_ev
o  Guflddiun 3. FCarenindi e
d)  UYsefhgun 4. oevbaebie.

B 3 2 4 1
Al 4 1 2 3
D 2 3 1 a4

Match List I correctly with List II and select your answer using the codes given

below :
List I List IT

a) Isidia 1. Mushrooms
b) Basidiocarp 2. Ascomycetes
¢)]  Perethecium 3. Coelomycetes
d) Pycnidium 4, Lichens.

Codes :
a b c d

A) 1 2 3 4

B) 3 2 4 1

f\ 4 1 2 3
Dy 2 3 1 4

L§14W



12.

13,

9 BOUG
sflurer allemerws CaihEa@ssaD
@esCarurimes (Ylubgl) 2 arGer
1. e plesoraiiu yeonsalle seoutsefles Qamafiqur o erener
L ue petoreslu Senpaailear aeautsetler Qulgwr 2 eterer
. vev medoramilu yempaafle saursefa svBuryEdur o_erere

V. ue pesoresflu siempaeien aeuraeflés gy evens o eieren.

Blevppyen
A)  lol@b efluresg B} [Tw @b sfwurerg
C) lwbHmd IV eflures ey D) el @G sflurerg.

Select the correct answer :
Lycopendon ( pufi ball ) is having

1. Many microchambers lined with conidia

II. Many microchambers lined with basidia
IIl. Many microchambers lined with sporangia

IV.  Many microchambers lined with asci.

Of these
A) I only ' IT only
C) [and IV D) Il only.

SPpeHeTanid smoasaao ag sflurag

A) @LUTLGLrenl ereiug soL WL b&anst QFTHEID houns @L'_@deamﬂ

B)  eorwur GLrewl ereiug el aremnl g6t whHomm s Giuwrm g

C) LT G remol eTedTug e_wirl_ Libsellesn Gl eurr QUmmeTm @b

D) eLrwr GLrennl eTeiug eLwrl L baset shGer 2.t 6llér Galle@n 2 ama
Gl e .

Which of the following statements is correct ?

A Diatomite is a parasite that infects diatoms

B)  Diatomite is another name for dynamite

\52(] |\ Diatomite is the cell wall material of diatoms

D) Diatomite is the reserved food material of diatoms.
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18.

19.

Which of the following is common name for the chemicals listed below ?
L. B-1. 3-linked D-galactose
I1. I. 4 linked anhydrogalactose
[I.  «-1, 3 linked D-galactopyranose

IV.  B-1, 4 D-galactopyranose.
Of these

A)  All are agar-agar

B)  land IV are agar-agar, I and Il are corrageenin
\._Ef:}’\“, 1 and Il are agar-agar and rest are carrageenin

D) Il and IV are carrageenin and the rest are agar-agar.

apsargmd Glm Cuuisefle ‘@arbyeller Quuit erg 2

A) s Guri e enL Ger@i_mwm

B) Bl Georiflumr Geé e engeon

C)  urelleneGureflumr gyt g Qamiflarardlev

D}  yebeur CevsL yer.

Which of the following is the binomial for ‘'Kombu’ ?

A) Dictyota dichotoma " 3  Laminaria saccharina

C)  Polysiphonia tuticorinensis D) Ulva lactuca.

e I ulgoud 02 e sflursl Qurmsdls &ips Rl Geirer GOlUGsefld
g UuenL e efluren ellensowg Gaiey Gews :

g e I utigweé IX
a) el sCendaye 1. Sedub
b) @Cyrdlui Qarsd 2. mel
¢ Qurl@ al@ge 3. gevGarenwendi av
d} seGareflud 4. QuégCurenwesi av.
SR :
a b c d
A) 4 3 2 1
B) 1 2 4 3
C} 1 4 3
D} 4 2 1.

\_614_\
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16.

17.

11 BOUG

Guelldeflugdletn Qumgs Gluwrt 7
A) o Curé® B)  amuy CQuré@
C) ol ® D) ren.
Coznmon name for Penicillium is
\of | Blue mould B) Black mould
C)  Smut D) Rust.
Fpsaraguamasefics amGLr@aralusdledinsed svOLuGmmraranl @@Lt

&l &l ?

A peflddEhe ey Netame, aul Lorss somsllopsst semobdlHuus)

B) sosllepsoea 2 L6 puwand Qupdmsse

C) g6 gar-bse smsllopy arar @ras® aosdloparmer oL o
L& SIS QUDDIEHEHS e

D) sasllopsd gab GubdyrEmdsd.

Which of the following is the stephanckont Zoospore of Oedogonium ?

A\
4 | Presence of a sub-apical crown of flagella.

B)  Having flagelia all over the body
C) Having two lateral flagella. of which one is a tinsel type

D)  Not producing any flagellum.

a8 QarTRésiu Laeusald ag ulguelayeier @ramuaoiseia Gumgeures

@Lwf 2

I Stem 1. 3 sl 14 -GaesGLmea
I 1,4 mél Sstrerant.Grr CoansGLmen
. syeur 1, 3, dius g -CaaaCLranurGerren

IvVv. Jdior 1. 4 g-GaasGLmenury@etme.
Glanpyer
A) ST HGD HSHTT BTT Y GO
B) [iopHoud TV &mi-yeni @, [T h I b srgrdeesr oy @ib.

C) Twpmd Il &M SBTH B GD. LHDEE STTTEHTE Y @b

D) [whob [V eryrdast o @ib. Baopaiatena Mt eni @b,

LE \lﬂ [ Turn over
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21, Blerrardud Gesreumd GLACLTel sreursdld sraoiuGdng :

1. Sy BT
I,  eeGemiLi
L. @e Gorlleirenio

V. oy el Grmengaumss:.

Qleppyet
A) T wpmic M1 gflureremey B) I wprybd IV eflurerese
C} lTwl®o sflurerg D) I wol@b sfluregs.

The Synangium is present in the following Pteridophytic genera :

I Rhynia
II. Psilotum

I[II.  Zosterophyllum

IV. Asteroxylon.

Of these
A) [ and Il are correct B) [II and IV are correct
C) I only correct \!ﬁ) i_ Il only correct.

22. wBurprgrdluiser oGy Crrsdle Cameamdl, cuatihs gL oL dlean Gamrre
Slebteumomm e paHsiu@alns

I sephs LOOID UG HleneuuTes
iI.  ereflempwres g
I ugbleoe wHMID FWOTET S

IV,  sworerg.

Bleunmser
A) Lopoid 1V efluresene B) IVwol@b sflurarg.
C)  Nw @b sfurerg. D) ol @b eflurerg.

[614]
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Maltch List I correctly with List II and selecl your answer using the codes given
below :
List I List I
a) Clamp connection l. Pythium sp.
b)  Crozier hook 2. Yeast
¢) Budding 3. Ascomycetes
d) Oogonium 4. Basidiomyceles.
Codes :
a b c d
\;xﬂ 4 3 2 1
B) 1 2 4 3
C) 2 1 4 3

D] 3 4 2 1,
20. 2,000 wedleQarae Geameusmet aeausa 2 bugd Qe LwsLBeTpe -
I. a1 Genr Qludhguid sp. whpIe eresTLwrOCETIT SP.
1. CuCauflur Cudluremm wppd Gl Lranydlhub eGamSlabliGurr
.  Gaeeangrm oebllseran wdnbd gy ebFGoordfhur o eb i Geori_sr

V. @ arhgib.

Gleuppien
A) 1wl @ip efluresgy B) Nwl @b sfurers
C) [ whmun I sfluren emneu D) GuhHeadu edar Gen@daesi.

Biopesticides are prepared using :
I Filobasidium sp. and Entomothota sp.
I1. Beauveria bassiana and Metarhizium anisopliae
IIl. Candida albicans and Alternaria atlernata

IV. All of these.

Of these
A)  lonly B, 1l only
C) 1 and I11 D} all of these.

614 | Turn over
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24, GQeargdGndea wrev sraursHedlphe Nateimeaamainmre Gaunu [ & s
A) Cuobum® oyemLibe eumeu@ent el
B) Bhobengu 2HSErTEeuTeubas
C) sallgsadaow aurihg CadllGLreul
D) AT T
Selaginella dilfers from moss in having
\1)(]/4:1 well develaped vascular system i3) Swimming autlherozoids
C) An independent gametophyte D) Archegonia.
25. Gel g&lGugey Gledser sraomiu@n QNG raul greaug
A) | I Cuwr e Ceuren B) S epeILIT
C) worrdehum D)  Qr&Gmesligu.
A Pteridophyte which has laticiferous cells ?
A) Ophioglossum B) Osmunda
C)  Marselia " Regnellidium.
26. dlenii-nrey ererug @ Glum gl Gluwi
Al Sty Georflur B}  emeoGamGunigub
C)  QeerglGimeer Dj D LT ETHTL(D .
'‘Club-moss’ is the common name of
A) Funaria ’ F]. Lycopodium
e, C) Selaginella D) Adiantum.
2;.\'@@@\@%)5@%\) LwesTU{HL 2 0 2 7D Ghs GILAGreaul sreurd oy @b
A) Qe e HiGImeueuT B)  eesev
C)  Gudfev D)  olsreur.

Pteridophyte used as a biological fertilizer in rice ficlds is
A)  Selaginella I3) Cycas
C) Pteris . Azolla.

{' 614 |
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A Sorus in which all sporangia appear. grow and mature at the same time is

called as
[ Mixed and Gradate
11 Simple only
(II.  Gradate and uniform

IV. Uniform only.

Of these
A) I and IV are correct B) IV only is correct
A
@) | !l only is correct D) Il and I are correct.

23, Uetreumeusoeubmems Ogreaigeutiselle cusmassn aeney ?
1. BarGermGamllé: whmd i FIGurGamuiis

1. SCarCemuils wimn GualGuUTCeamié
M. QuiflN&Gase wHnID &bLys e

V. Garéarernd whimb lb@[bgj BT euiD.

Grpisi
Al ol @b sfurerg ' B) Il @b eflureng
C)  lwl{pd eflurearg | D) IV @Go sflureng.

Which one from the following are {ypes of fossils ?
I Coenozic and Archeozoic
I Mesozoic and Palaeozoic
IlI.  Petrifications and Compressjon

IV. TPaleobotany and Ethnobotany.

Of these
A) Il is correct % I is correct
) I is correcl D) IV is correct.

| 614
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32. wrisraeflur sroursale, @CenmGyir lammau Ghs eueunmeg)
A) L) GLIG €11 1T GO ) B) sl sugeunmerg
Cl nlesdly argainrears D) dlouss eugeuomestgy.
In Marchantia. the chloreplast is
A) Cup shaped '\EHJH\; Disc shaped
C)  Star shaped D)  Ribbon shaped.
33, uTeL 2 MILLSET Ly 2HS@E 2 emDWTey G RUUL(E STeeTuu@ED SiTeurybd
A} coywCeoriflurr B)  eveuGrTensy
Q) Guryeer D) srsmeb.

Multicellular and jacketled sex organs are present in

A
!\

\{‘i‘j‘l \  Funaria ‘ B) Spirogyra
C) Porella D)  Sargassun.

34. psCrrgarav(ead o tdCaraiunamer Crradl Veeumd Caudl Qurmetle

PSS T &HELIUEIesTm 6ot
L Qaruy obled whnn arelé ibleud
1. wredls opbleod whmid oy Cwflé oublen
0L Sty Gufle opfleun whmn smellé ybleund

IV.  womedls opbleuid bl [Hib.

Gleuppiet
Al Twl (o sflureg B)  Hwl@o sflurerg
C) I w @ sflurerg D) IVl @b eflwurerg.

| 614 |
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30.

31.
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Gabulwb sreu@d QLML masuy greurn
Al @OGurgBaumeuid B)  oyeupainin
C) merdlliesy D] SgureHLib.
A Pteridophyte which has Cambium is
A) , Ophioglossum B) Osmunda
'\L?]f I Isoetes D)  Adiantum.
QLfleév greurpdler apGearfles srawliL@h surevGer Shemn
A) yGrm_GL mevedy ' B) GQeradliQarmevizey
C}  emgluGermeviesn D) gy Cureved.
Stele in Pteris rhizome is
A) Protostele B) Solenostele
Q) Siphonostele \[3{'. Dictyostele.
Qeoewsen pU suemeTw ugalld Hewhs Semoly @aCsrGururelld ke
Sodlengdles 2. sieng) 2
A) oo derCeul b B) e Olefayeub
C)  evev. Slewd Quifunr D) oo, eur@pysoiiey.
The leaves are arranged in closed spiral in which species of Lycopodiumn ?
- &) L. clavatum B) L. cernuum
C) L. phlegmaria D} L. volubile.
@bs sreursdld svCurlrrgrdlunss evBurByranil eettuBd Smin 2 mIiysel
epeud 2 Husdwrdlesiment.
A) QL E(LPETITLIT B) @ﬁ\(ﬁu.lrr@@aarramb
C) el D) eeGasrCurgwb.
The Sporangia are produced within special structures called sporocarps as in
A) Osmunda B)  Ophioglossum
\JCJA\ Marselia D)  Lycopodium.
614 { Tum over
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Anlhrozoids are attracted chemotactically towards archegonium with the help of

following substances :
L. Fatty acid and Galic acid
I1. Malic acid and Fumaric acid
III.  Fumaric acid and Galic acid

V. Malic acid only.

Of these
A) [ is correct \B) i, I is correct
C) 1M1 is correct D) IV is correct.

35.  Jlesieugpeuenicupmyet g eny@uirenul &rihg seumnes &hbdieameand aetor Gy
L. ursv@)eorl Lmh&ESD 2e1Gawen alamsm G

I & ey eool Cawi. {eer @ o e fl h @ et 3 &) 651 & G
Bemy Quiremi Qeefaud . (heurmeor g

. s sy Norluraul Hew@hd shed brHpd & eaou@ana

V.  éBurCyrenul whmip Celll CLrerul. #had) selldaaian eumihss!.

Bleupmyer
A Tobno 1 afurer e B) ot @i sflurarg.
Cl Vol @b sthureg. D) Il whpbd [V efluratee.

Identify the wrong stalement pertaining to Bryophyta :
I. Sexual reproduction is invariably Oogamous.
II.  All bryophytes develop embryo after gametic union.
1i1. Al bryophytes exihibil alleration of generation.

IV. Both the gametophyte and sporophyte are independent.

Of these
A) I and II are correct B) I11 is correct
N ,(Z'j |l IV is correct D) [11 and IV are correct.

614 | [ Turn over
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36. gyidlGarefengdlar oL Camsensd Cuarss arasu@h Clad @& 4 GD.
A sWda HTéeuri Qg6 | B)  awsg Ged
Q) eplg Qlec D) Qeuami_i smeveurd Glad.
In the archegonium, the cell above the egg cell is
A) Neck-canal cell B) Neck cell
C}  Cover-cell " ¥ Venter-canal cell.
37. oy Genfur smig@edier s amuED &repGibevet @Bbhe: LRSS
Al awelenn QETHEHS G LS
B}  sL&gb urewral uuesTuRE DS
C) 201 G855 OarHessmsugwg
D)  euedlemw wihmd 2’ L s5dlDE vwaTLRng.
The columella in the funaria capsule hel‘ps in
A) Mechanical support
B) Conduction
C) Nourishment
~
D) Mechanical support and Nourishment.
38. Qurel greurhser s Hraiysdlekphe CounuBealg aHeTd ?
Al safllgg Cabl GLmenusol B) salge evGurlrmeanusol
C) meeb lhgser D) GQaefleuner sphsdl wrHDD.
Fern differs from Moss in having

A) Independent gametophyte »  Independent sporophyte

C) Mobile sperms D) Distinct alternation of generation.



39.

40,

41].

21 BOUG
goui Qledmallen o ctorenullGens &)g)
Ay 2 B) 4
C) & ) 16.
The number of cover cells present in mosses is
A 2 "a_j,*:}ﬁ\: 4
C) 8 . D) 16.
e Hréle Qarrraarduh Goursst Geuben Quibneheres .
A) éﬂmthq o &la e B3} [F)FG\) L&D umd eef
C) U&D UTE &6 D) u@Qq urdleser.
The corolloid root 6f cycas possess
A) Red algae \Bﬂ Blue-green algae
C Green algac D) Brown algae.

Qgmesepullii uws SHIL LHGHaGmeT LDHIW SPHHTEUD Fhmenerd &eucthHild
Cl&T oI, HEUDNET daMEIHeneTs: HeoHuly :
[ 2psEll udlbse Gsragullt ugwhssT LAlen uropasefld
& et U a1 m et . .
I dessd @hes vgnsdlbe of fnbs (pera.aTremb 2 6h
. 2yuwssase QUDD WI&HEL LhssT BloonTnasd e dane Guayb
Hlevgeltl o meurdlng.

V. 2486 sTeukisele UTHLGET Qancusalles SIem (pigHing.

Blevpoyer
A) I 1T wibme 11 gflwirsstemey B) IL I ohmyd 1V gflwuresenal
C) Mol @e sflurerng. D) Vol @b sfurearg.
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42.

43.

Consider the following statements with respect to the fossil lype compressions :
L. They are normally [ound in sedimentary rocks

II. Coal is an ideal type of compression fossil

[II.  Coal is formed through aggregation ol compressed plant material
which undergo melamorphism.

IV. So compressions can show plant parts.

Which of the above statements is / are not true ?

A) [, Il and II! B) ) {I, 1Il and IV
C} I1I only \J}Jfl IV alone.
@urew LEWGLIETLT ghul L &Tes ShHSILHG

A) GuelGumdlen Bl  @Gurdler
C) odGardd D) bGurdan.
Recording of Development of Himalayan ranges was during
A) Paleocene % Eocene

C) Oligocene ) Miocene.

uCguéd I o uiguée e eflurel Guipsdls &b GHL Geer @iluGsella

2l iuem e sflurer afleoccows Coiay G

ulque I uligues IX
a) geven Qe g ohissT 1. wsrhsw, snvGurt
b)  Gumredl Gigmeogdii Lgwikeeh 2. wyb, allens, LD
¢)  Quflu Qgresplli LY LbRGET 3. sévenars afliohd o_sien Hreur
‘ a0
d) Sdlw Qaréeulli Liginkeer 4, greur, alleviug eugaldr BeILHS
UTenme e .
oillpeer :
a b c d
A) 4 2 3 1
B) 4 3 2 1
e 3 a2 2 1
D) 3 4 I 2

6i47’
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Match List I correctly with List II and select your answer using the codes given

below :
List I List II
a}  Sub-tossils 1. Pollen sporecs
b) Pseudo fossils 2. wood. seed. fruits
c)  Mega Jossils 3. non-petrified. carbonised plant remains
d)] Micro fosils 4. rocks formed in the form of plant or
anirmal parts
Codes :

A) 4 2 3 1

B) 4 3 2 1

\of] 3 4 2 1

D}y 3 4 1 2

C. J. Gesourellen, slbCeanmevuigpmener ehs gluem e @raor® Quilw
u@dleermal Yfegri

A)  wrseaw e oyl ié

B} Qeuelluyp wHmid 2y eleurhsamerd Qemeor ()

C)  uré e.puusefisn U Bee UTeEET g luemt. e

D) aleosssr gliguemen Uretissile gL,

C. J. Chamberlein classified Gymnosperms i.nto 2 major groups on the basis of

A)  wood structure

\f_.B)". morphological and analomical characteristics

C) atltachment of sex organs nature
D)  structure of seed altachement

[@iﬂ [ Turn over
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45. Qe GaiLé zenyf) @lelisurny Siem MH&OLREDS.
A Lt L besile srenni mé & mHSUILGSID
B) Ubeid srerkseid srenrs sduiLfding
C)  eea selled s s dunf&Eng
D) uwrdleets el O .
Caenozoic era is known as
A) age of diatoms \)‘%]ﬁl age of angiosperms
C) age of cycads D)  age of algae.
46.  eodlGeanriGh_iflav erhmalls Cemeuaylii LYWL aiveaOWE aTTHEeE ?
Al saeTEsan B)  wem_wren Quirdliysei
C)  Up e Usansa D) Guissuwssi.
What kind of {ossil type is Lyginopleris ?
A | Petrifaction B}  Impression
C) lncrustaﬁon | D} Compaction.
47. gGarsllwesn aresdle @uphs sreurhsamend Cainhbisd.
A) LT BEEDHD LpLL L &8 @D
B)  Gangm whmpd Heuliuy urdlaer
C)  eoseudlResi wbnie sullermiiglfee
D) ameuCernurseunsesh Lr&emursasehn.

Selcctl the plants that are believed Lo be existed during Devonian :

A) Diatoms and brown algae B)  Chora and red algae
.‘?Q)F Psilopsids and sphenopsids D) . Cyanobaclieria and bacleria.

614
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48. ‘smruet GLigk’ vLwaiu@sdl sreb Biamudlsse @bs @ HSEHS G

eUEFWNISSHUILLIG (Hdmg.
Al 15.000 oy cm@es B) 25,000 syamrpea
C)  35.000 syam@ss D) 45,000 syem@es.

Cstimation of time using Carbon dating is limited to
A) 15.000 years B) 25,000 yecars

C) 35.000 years P 45.000 years.

49. GgreagydlT LgwRsaeT] QUTESSI. G 'Cara uTd’ (@) sfuubgiee aaug

A) HROTGHM cumtheaaus EMTHE STeUTL LGS

B)  sweorwrery Quirbliyse euene srihe Qmaaulli Ligw sreuyy LGS

C) Qesefliyp ks @éa weonllé LSS0

D) SWHHU udlesdaen cuansews sTihg CaTdhelt Lgw sTeauyl LGS

‘Coal balls’ with respect to fossils refer to

A ‘ petrified plant organs B) impressions of plant organs

C)  External parts preserved as cast D)  compression type of plant organs.

50. CorauGreven uphiu, Uarenbnseaend saiabdle Camers:

I. SHTEUFRGET BeTTHeyD, Slavetsmal QaTaEnHD euTEph Blenewsn W e

LaELUlenasen Gle T e
I @uneuans dleaveraen QlamesorL eney. MO ol gd WHIMID EHLL. e et b
. wyb 2 pdluregb, SWSHSILLL OTED
V. sy Cabll ua sensllenpsamen Gubn @b QUUIE Fnguws.
Cuheeti dnpmissHeaflsy 2_sooremwipmensy eraney 7
A) I, 1Y whmyd 1T #flureraneu B) 1L I whmub IV eflurearene
C) TNwl@d sflurerg. “ Bl IVl G eflurergy.
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Consider the following statements on the order Coniferales :
L. Plants arc usually long. branched. cvergreen trecs.
Il.  The branches are dimorphic with long and dwarf shoots
HI. The wood is pycnoxylic
IV. The male gametes are mobile with numerous flagella.

Which of the above statements is not true ?

A) I, Il and III B) I 1l and IV
C) II only _PI IV only.

51. eumdr updu Séamd ambndsamen aouambdledr GQaran(. 2.emembubhmn

gD (S aemen )& aevorHLlg. -
. D@ &6 QGHITEEEIL. WHTHSSETE
1. 2 - 16 aflenglianevasi Qameton. g
[, OuTgeuTs: LNGHE FeTaTD

IV. 3 Qeass floadle GeualCubplu@n swsGrmevGumiaef.

Bleuppret
A7) I wehHmyb B) [II whmpn IV
C) I i (Hid D) IV i (b,

Consider the following slatements with respect Lo Pinus :
I8 Winged Pollen grains.
lI.  Number of cotyledons may be 2 - 16
III.  Polyembryony is cormmon. -
IV. Micropores are liberated at 3-celled stage.
Which of the above slalements is / are not true ?
A} I and I B) IIT and IV

C) Il alone ) v a]one:

[ 614
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54. eogHlev uDdlu SParamId sapDibEaamers souadgles Clanelis.
I sreghss smblur N&Cudlureaad sally bhpemey a6
I, sl geoesd, gangea 2 60 ugdllld &hore oeowholneED
. dpdlevavsst HEBID@UYD FrTerLrer UGHEUTL(H  HyDL & erwb
GlubmyeTeneo.
Clopeeoor gnpmuseftley sTanans 2 ctTemn QevenT&eane 7
A Tobob [ B) 1 wbmyb Il
C)  Ilwl @ D) I w (.
Constider the following statements on Cycads :
L. Plants are woody trees except Zamia pyginaea

iL. Leaves primarily compound, arranged in whorls at the apex of the

stem.
II.  The leaflet have mid-vein with numerous lateral veins.

Which among the above slatements is / are not true ?

A) I and Il only B) [1 and III only
Q) 11 only ™ 1l only.
55. @by HnGermenuid Teurb, sTTramnTe Hf' aain HenphsiLRSng.
A)  eeav Qeidlermellav B)  eueTsiv i seuLsiedien
C)  eoweoretv Gl unt o D)  ewusrev suerafledlumenn.
The gymnosperm plant that is commonly known as ‘Chir’ is
A)  Cycas circinalis B)  Pinus roxburghii
C) Pinus gerardiana D) Pinus wallichiana.
56, LifLeTenL et sumfiiyse (pseaTeninsd STeurnrs s(Hsiu{eug)
A} ELISTTER (TIT& LT ehleonus B) ey everafledlumearm
C)  ewweoienv G)ed aeurmiflery D) evwuerev Glgpiyiriguimenrm
The principal source of 'turpentine’ is
A Pinus roxburghii B)  Pinus wallichiana

C) Pinus insularis D} Pinus gerardiana.
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27 BOUG
s Gerauib PO EPHHEEITL gahrsanenéd meuarbdles Qaream[. 2 e amuouhn

nHn(&)semend Caiey Gels. :
I L& whnib b GUTETn sumasset GuIrgleum s
[I. et GuTen eniiysel
HI. 2 ep QemeoL. @

V. LphiaeT 2 (heun §ev.

Bleupmyer
A lopood I B} 1l wdmyd IV
C) Ilol@o D) IV bl (.

Consider the [ollowing statements with respect to Gymnosperms :
L. Shrub or tree like habitat is common.
IL. Formation of flower like struclures.
III. Integumented condition of ovules.
IV.  Formation of fruits.
Which among the above is/arc not true ?
A) land I1 B) Il and IV
C) 11 only B IV only.

GQurl@ whow udlase Camrewnd, 2 Lwsl QUEBHESHD ersiraooTs Q&b

STeuIrD
A) anLesT e B}  edlgm
C) Bl D) engse.

Vegetative reproduction by buds and bulbils is common in

A) Pinus B) Ephedra

Q) Gnetum P}  Cycas.
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62.

63.

64.

31 BOUG

GLielGenéliler 2ievell aul Lgdlest @61 ki aums

A GIvaEe swe 2R Gue Bl gn swey A0sEsp e
C) Qan® @sp sune D) spedlar puie.
The aestivation of corolla in Papilianaceac is

AT Descendingly imbricale B} Ascendingly imbricate
C}  Valvale D} Imbricate.
GUTIq UL Bo6ll 2 (DT HDWENL hes

A galspse B)  yevebleu i_tp

C)  oyeved el D) @evd eul b,
Lodicules are modified
A Perianth B) Calyx

C) Corolla D) Carpel.
yooBunmiGualuiics simeworiu@id wene

A} suumig Gen | B Gnedld

C) m&mrr_&)@u_lm‘ D) sewiy cuans.

The type of inflorescence in Euphorbiaceae is

A) Spadix B) Raceme

L7 Cyathium ) Mixed type.
25 G el GuoevGeormosemeavemasndlast WTHDIHLE el

A} SelleBer(® B} dlerGumr
Cl GuLleL GnGéd daligemen D) gel Gemev.
The modification fo.und in Acacia melanoxylon is

¥) Phyllode B) Cladode

C) Bipinnate leal D} Simple leaf.

ol
N
L
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65. ursEGamallGud] ahad sepeowsd errhsame 2
A)  prGeeveny B)  uweoy  GLéven
C)  eligeBuGydusy D) seGadsv.

Magnoliaceac belongs to the order
- Af Ranales B)  Parietales
C) Guttiferales D) Olacales.
66. NG n rrd sl ahe GROUSSE FTTHSHENO 7
A oréCamelGué B) eG4
C) glGuwdl D) =eugGrd.
Cremocarp is the fruit of
A) Magnoliaceae 3) Rulaceae
A) Apiaceac ) Asleraceae.
67. 8&Cart aps Lnesdld @EHe S _&Ang
A Geut B) @
C)  sa@u@ D) e
Chicory is obtained {rom
AX) root B) leaves
C} stem D) fruit
68.  Orugueilur e
A) dgwore sreuyo B)  pithle smeuyd
C)  egiyble smeuyb D) updl gpi sreund.
Neptunia is a
A)  Mesophyte 3] Hydrophyte
C)  Halophyte D)  Climber.

614
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29 BOUG
GUIGWTE0 auigel @leney Ql(pemald smemuuiieg
A oumdlen sege B) emssdldn seawige
C)  ecoueadlen dlamenametien D) evssdla (pmbHe.
Girdle traces are found in the
Al stem ol Pinus %] slem of Cycas
C) branches of Pinus D) rachis of Cycas.

Qiyes® ©lsdsener gpgaetTay epLlul L engsdlar @enbursisemend GHILIUTS

@lsueuTm) SaneurD.

A) Quoevsbl (g seir _ B) ul@® Gurenip (pgaer

Cl Gyt b D) uely g ser.

The young parts of cycas plants are covered with bicclled hairs specifically called
as

A} scaly hairs B  velvetti hairs

£l J ramentium D) browny hairs.

Sp&erauid suenTuL Sl Dol GHHTD g ?

A) EBr.EBrl § ®K,C,,5A, G,

B) EBr.EBrl, § LKy, 3C,A, G,

C) Br.Brl. § @Py4A, G,

D) EBr.EBrl. § P, 5,47, G,
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The floral formula of the diagram below is

A)  EBr.EBrl. § @
d

B) EBr.EBrl, ¢

© Br.brl. § ®@PgA, G,

) EBrEBrl § ®P,,45,5A, G, -

60. &G sTaRD LLGmes smUlgsEeD.

A)  eewrddHlwub B) Gangredlev
C) enaGa sl D) ememUITes GHTigwiD.
Identify the figure:

Sorosis
Hypanthodium.

& Cyathium
C) Syconium

(614
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69. wraGarmalGuiilles weaTseT Syemwi
A) gossals B) venuGrrensseilé
C) Qeanibensseis D) esedls.
The flowers in Magnoliaceae arc
A) Acyclic B) Spirocyclic
L] Hemicyclic D) Cyclic.
70. GewanblCarmBallen @emauaen
Al 5l @6, Gal 1gemer, LISSTOL kG GDES sal 1606
B)  gafl Qeoe, phoné Apee snl gaoe, @eoasen Gecmne Gmiug
C)  sghond dned sl igeme, Ll @nGé gl gene, Semm@Lml
D) s @eme, sl igene, colllewGeuTl .
The leaves in Leguminosae arc
A) Simple, Compound and Decompound

B)  Simple, Unipinnate and Leaflets

Q) Unipinnate, Bipinnate and Cladode
) Simple, Compound and Phyllode.
71. ey flev SGuimigey @b GHousdler &p cukbdlng.
A} wreEGearmeliGué Bl ofiGad
C) yeolumiiCué D) Gl él.
Aleurites fordii belongs to the famiily

A) Magnoliaceae B) Arecaceae

) Euphorbiaceae D) Rutaceae.
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72.

73.

74.

34

s o iGralfles weyhasereallar oemwiy

A} SerQoeilafiuey

C)  opvall L igw srenae

The stamens in Asteraceae are

WY Syngenesious

C) Epipetalous

g enL_méavwllés STestILRD weghe

A) 65 Sl Syngps]

Cl  Syoersflaermer gyar Hywvenar
The inflorescence of Tridax is

Al Homogamous head

C) Head of heads

weult @GHSITD

Br,EBrl, § L . K5C 0,080 Gy

e SHDUSDmBE GDIGHDE 1

A CuuGued

C)  wraBamedlGuéiur

B)

D)

B)

D)

3)

D)

D)

B8]

D)

életemmetri_ g fluwid

g 7T esT e Geul LT,

Synandrium

Translator.

@m sriul L Srogre

suenus.

Heterogamous head

Spike.

awlur@s

oG eadlur.

Floral formula of Br. EBrl. g *‘L-K{5)01+2+2A9+l G]

represents which family ?
W) FFabaceae

C)  Magnoliaceae

(614
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76. DETHHESSTEHEHD LHOID Goswpbd GeuaBany sransealléa usbGobd oL eug
@)eleuTmy B P&HILEDEDS.
A} GupeTen (pglitey B)  uTeDILLS Se
C) CoubpulLé gmevss oo D) Suwe verhes Carshens.
Maturation of male and female sex organs at dilferent times is called as
A Dichogamy B) Herkogamy
C)  Heterostyly D}  Cross pollination.
77. @eoemur Seell GlapoEniw ubebn el Lb @glh sramiu®dng:.
A) i Nef Gum ey & B) gUlGué)
C) oflGss D) geoanrigQué.
Polypetalous irregular corolla is seen in
~A)  Papilionaceae B)  Apiaceae

) Arecaceae D) Anacardiaceae.

78. Spssragd UL GdleyieTen LITHST W ?

A) 1 —yeug Gegdla, 2 — ysrby Cesdle

B] 1 -—avii. 2 — @aveucelly st

C) 1 — Geteudslysi. 2 — Gemaueetiy,blad

D) 1 —@eewugé Qedla. 2 — Apdlae 2y Cedld.

[ 614 ]
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75. ulgoé g ulgue e sflural Qurpsdlé Sips @@Ulﬁ]L@eﬁsﬂ GO Healle
2pg usm ey sflurer efle_ows Carey Qaws :

ULigwen I ulaguwes I1
a)  erdoldil Me 1. Blevendlengar dlermligm
b) B amifleny - 2. sradlen @yl bGpe
c) Baramie 3. ey
d)  sréadleller 4. aiflgCrrengerer Coumen.

@ﬁﬂ@&m :

A} 2 1 4 3
B} 1 4 3 2
c) 3 1 4 2
D) 4 3 2 1.

Match List I correctly with List IT and select your answer using the codes given

below :
List I List II
a) Ephedrine 1. Glycyrrhiza glabra
b} Liquorice 2. Colchicum aittumnale
c} Cocaine 3. Ephedra sp.
d) Colchicine 4. Erythroxylon coca.
Codes :

A2 1 4 3
B 1 4 3 2

L3 1 4 2

[ 614 | [ Turn over



79.

80.

81.

ldentify the following :

A) 1 — Bract. 2 — DBractede 3) I — Spur, 2 — Involucre

) I — Involucre, 2 — Involucel D) 1 — Stipule, 2 — Stipel.

@,eNeyaT et wenhasGprd Gl @bbeaml auflurs mempsele GlLwr
A) GurGnr el B)  BSCarGead

C)  ser@erGsd D) HaGsd.

The cntry of pollen tube through the integuments is called as

A) Porogamy Bl  Mesogamy

C)  Chalazogamy D)  Syngamy.

@i 0orhs @, sflurer Havalies aueny 2 sayb.

Al OgenGrligey By deduen B gy G

Cl  @os upg D) Caen gl

Which is associated wilh directing the growih of pollen tube ?

A} Generative nucleus B3]  Obturator

C) Stigma D) Nectar.

U Ahenmi@® getenw GareiL (panem@phleeneat bl @eut (pesrQom PlbsTT.
Al CammeslnblueuL i B) a'uqrre?uur'r&,r'r‘

C) Houm el edt D)  Gev Guomeshiwg.

BOUG

_ éic'fj [ Turn over



BOUG - 38

82.

83.

84.

85.

Triploid nature of endosperm was proposed by
A) Hofmeister B)  Strasburger
o . Nawaschin D)  Le Monnier.
Spdemesoreunmuet epbIGan sretmGLrsv@uTdles aReqmssTL () ergy 7
A) Sl gev B)  diflevg&am
C}  wreradlGur D) @Cendlym.
Which of the {ollowing is an example of Ruminate endosperm ?
A) Citrus “B) Myristica
C) Mangilera D) Qenothera,
G0 2 ODHET HYDD GVHET, GeUeUTDi 4emPHHLILHID.
Al ouBLads Bl gCL&bls
C) yelBLsals D) GL&lls.
Ovules without integuments are
A)  Bilegmic BY | Ategmic
C) Unitegrnic D)  Tegmic.
walibs warhs bl Qeusileafla aramiudd SH&E G\
A)  aerCrlenmiiev B) Gureedl
C} Ao D) euCurCrrGuireieties .
An oll layer on the outer side of mature pollen grain is
A) Cartenoids \B)  Pollenkit
C) Lipid D)  Sporopollenin.
aevevgslest Gleuene @ldlelmhe GCamemb |
A) 2 upiGuredler eipatCod EIPTs owhHS UsGSHE
B) L{@Uf‘l’l_‘ﬁ(gE_ITQL.fﬂ:D Qg v e
Cl  ynsGare Oledsmen

D) o dmeirer urgeenaier Glgcuse.



86.

87.

88.
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The vesscls of xylem originates ontogenetically from

) Longiludinal series of meristematic cells

B) Protodermal cells

C) Epidermal cells

D)  Living parenchyma cells.

21558816 Oghasile aramiu@D fply sataw &g

A)  &Cuflen B)  srévGuiluar sgiiysen
C) erevCuiuer Qsdaaen D) meope G,
Endodermal cells are characterized by the presence of

A) Suberin Bl Casparian strips

C) Casparian cell D)  Passage cells.
Borestiension Glae aeumaal (pohdlunre @laeauaanan s GlsirecaHerenes .
A)  QedeCereu whmbh eSléesie

B)  GQuége whmd sdléetler

C)  QedeuGeurs whnn CanbliélsdeyCeureu

D} GaaGarey HD Gluglges.

The walls of collenchyma are chiefly composed of

A) Cellulose and lignin B) Pectin and lignin

C)  Cellulose and hemicellulose J2J  Cellulose and pectin.
Syeowdl ewwd CaTiur e peir i Plbg ot

A) eneHll & B) @Getreuey

C) Gapureurem D) quamgeril.
Quiescent centre concept was putforth by

A)  Schmidt Bl Clowes

C) Haberlandt ‘ D) Lundegardh.
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89.

90.

sreuy o puyseiley, ahe Gedss B dfluemyb geawybd. cuameths C&rH&ED

- gemawyd Gubrysens 7

A)  uryesemebT Glg e B] Gareadensor Olgduaen
C)  Gealgoobluyey Glgcvaef D) evdlefiyeiremanr Glgdveel.

Which cells have stretching and bending nature of plant organ without damaging

of cells ?
A) Parenchyma cells B) Collenchyma cells
C) Laticiferous cells W)  Sclerenchyma cells.

uligud I e ulgud I 2 e sflural Quresdls dpé eilulll Gerer eOiiRaees

g LuenL e sflure alleoLews Caiea Qals :

UL igwen I ulgqweé II
a)  ghen GeoLbeustls &ay) 1. oGamentieurg e
b) Geesgeen GPlasT 2. 1-@eoa e, 1-Geews diney
c)  BIbysen 3. pflub
d @ouss @ew 4. gfiGumré.
solSpser :
a b c d

A1 4 2 3
B) 4 2 3 1

c) 3 4 1 2

| 614 |
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Match List I correctly with List II and select your answer using the codes given

below :

List I List II

[

a) Unilacunan node Isobilateral

b)  Silomalal crypis 2. I-trace. 1-gap
¢) Vein 4, Nerium
d) Equifacial 5, Areole.
Codes :
a b c d
A) 1 4 2 3
B) 4 2 3 1
cy 3 4 1 2
B} 2 3 4 1
Q&SRS b
CA) gemie 2 dlgpsiter Qady B)  eeveud B
C)  deiL. 2 dlghn See D) w2 Sygpp Qssv.
Tracheid is a/an
Ad Elongated living cell B) Xylem fibre
C) Elongated dead cell D)  Small dead cell.

b wHRL YEetrwb wrhl wrdl Sy TeT&HETE eold SiembHaeTeTeT 2
A) i B) geui(
C) eult D) Gemen.

Radial arrangement of xylem and phicem is seen in

x) Rool B} - Stem

C) Flower D) Leaf.
GeNam sriudy Garlur L (pethwr Plbseut wri ?

A)  Camebrsiomest B)  evédlgl
C)  prGsell D)  slLeurs.

Tunica-Corpus theory was postulated by
A) Hanstein _B] Schmidt
C)  Nageli D)  Guttenberg.
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94. ybselled BRLLERID 2 GOUTGD G b
Al GCaer anulser B)  seuBursbBumiaen
C) Qrprdlser D)  ysdlureudlupeien eresoGlemi.
Fragrance of llowers originates in
A) Neclarics JB) Osmophores
C) Enzymes D) Essential oils.
95. sravGuilus Ll amLaer aTdlér sremiufdleapen 2
A Gefleér 25588 me: B) seongea Se60sT6
C) Geuflew ypsGamen D)  erceBerl e,
Casparian bands are found in
«A)  Endodermis of root B) Endodermis ol stem
C) Epidermis of root D) Exodermis.
96. yevellcounin Glgcmer @emeumailey amemoiLfSlesipes .
Al gEalsdloen Qe B) Yy Glemevsern
C) @ualsdlame Geneusern D) seguUbeien & meose .
Bulliform cells are found in ’
A} Monocot leaves ' “B]  Grass lcaves
C) Dicol leaves D) Succulent leaves,
97. eunsugeunit Gabllun Cadseflda senwidls, pseramuanidle ag HreriLRD ?
A)  weeb Camhmyalser wpmud yarralub Gerbpalser
B) adii Carprelsst wpmd colflydldourtn Gamphralisef
Cl &Gy ewuy Csdssh
D) unyesensnr Gledme.
Vascular cambium cells consists of
A Xylem initials and Phloern initials
) Fusiform initials and Ray initials
) Similar kind of cells

D}  Parenchyma cells.

o



98.

99.

43 BOUG
arflevCroimen Camiurl L, (e OleTeam() aubseur
Al evAd B)  Ganeevig e
C) HTCa 60 D) svanl.
The Histogen theory was put forth by |
A7) Schmidt BI"  Hanstein
C) Nagell D) Schuepp.

ulgue I e ulque e L ar sflural Qurepssls &ps @Rl Geter @ill@ssils

g iusnLiile sflure el owg Careay Qaws

uliguen I ugwen II
a)  Bléugyev 1. dflu s wireuenigse yetellgenmaGeur  &aflw
sruksermeGour  Eemevullar  Cuhurudle
&IT GO0T QuITID
b)  geuev 2. Ay s ufeeniss yeellaeareCour asriél

STLRGMTHEMT Hallsel whHnb srusdeeld

& IT GO GUIT LD

c) 6ruLOL. 61V 3. uEmE HIHH SHEOW LOHNID HHSHSGET &en
Guretp  ev@uri  enlith FTETTRION G

el SeMedt um e etley

d)  v@se 4. uphsei 2wy srusdee Sweauridld el
| cugeunrer Qergblemrguuren &ifé Gumenp

{600t &M T & & 1T QOB 60ITID .

SOl Bear -

A) 4 1 2 3

C) 4 i 3 2

D) 2 3 1 4.
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44

Match List I correctly with List IT and select your answer using the codes given

below :
List I List II
a) Mildews 1. Symptoms appear as small raised spots or
prustules developcd on the surface of the
leaf
b}  Rusts : 2. more or less circular. rough crust like corky
lesions developed on the surface of fruits
and vegetables
¢} Smuts 3.  greenish blade, charcoal like powdery mass
of spores produced on the floral organs
d) Scale 4. Pathogen appears on the surface of the host
in the form of patches or superficial growth.
Codes :
a b c d
A) 4 1 2 3
B) 3 2 1 4
e 4 1 3 2
D) 2 3 1 4

& Carhésiu Getaraauseiis CBaG e eV TTEL SoOE eay UL FTeo

U8 s Hevor (Bl .

A)
B)
C)
D)

HBrmid Glorensd emeuren wHmD rrev aTiGamoT emeureu
grien emeur ey LHID G)eTLEHLEHTET LI e
MG smsuljdru OHDID LGSETT emeury e

géur LG emeuryev whmid S SALCLT emeuya.

Identify the negative strand / minus strand ssRNA viruses from the 'following :

A}
BY
C)
D)

Brome mosaic virus and Rous sarcoma virus
Rabies virus and Influenza virus

Reo virus and Badna virus

Alpha crypto virus and Beta crypto virus.

614 ]
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101, &pémetail sahinene o coo 6ol &aic Clama:

I. gevl ergud G wllGGuemeay eaann gopows srrhs I (6F 600 & & ETTIT 6
2 G méins).
IL. sl arargmd Grrl  wavganedlGaddy el Sopowus &TibHS

LLEHED & SHENTE 2T M HIDE; .

L ey pdlysGeamen araue Crrl CQualarlarailuday gonowus sTibhs
GODUSE L Ehens HenTe 2 ator_mhing.

V. Guenifl dleugy ergun Crmin évldidGueeny gleopeowsd arims GHOLSE
L EHen g HETTE) 2 (Heun Slng.
Glammyet
A} Twpno U efluresemey
B) 11, I wphmun IV eflurerae
C) 1, I whmb 11T eflwr e emew
D) L Uoeboo IVeflurarae.
Consider the [ollowing statements :
L. Rust diseases are caused by some {amily members of uredinales.
II.  Smut diseases are caused by some [amily members of ustilaginales.

IIl. Anthracnose disease in plants are caused by some family members of

Melanoconiales.

IV. Powdery Mildew diseases are caused by the family members of
Sphaeriales.

Which of the statements given above is/are true ?
Al I and Iil are true
B) II. III and IV are true

) I. Il and Il are true

D) 1. II and IV are true.

\ﬂ] : [ Turn over
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102. o GLréluen arevigud Bleewles g Crrid &l

Al peg aurpheosd aphdlow of Namre srarsda 2 saldard Gewe
uBsEls Cerading.

B) o GLmgGymdls eurpéenesenw @mib@e,rrsfraﬂmg;

C) seg eaurpsmss spondlaow SCT QB USTTEH STUISFL ST WG SHE
Qarerdmng

Dl uew UBTIH BreuThis:enend STHGD cusien ©OaT el g).
Autoecious is a condition in which the pathogen ?
A) Compleles its life cycle without the help ol a host plant
B) Can lead an autotrophic life
e Completes its life cycle in a single host plant
D)  Can infect a variety of host plants.
103. ‘@e@LrQuyres’ eresTLig:
A) urseflurésenie adrs wallg o L.edléd o Hamsasiu@n yyshd
B]  yEhemessile eeurenucé@ erdlyms 2 mheurhaluEibd Ly s
C) emeuyev Crprilée adlime wefle 2 Leld 2_Haum@b yys
D)  usbsale dle 2 HarssUUED euyausE erdlymer yrsb.
Interferon is a
A}  Antibacterial protein produced in humans against bacterial infection
B)  Antiviral protein produced in fungl against virus infection
.Cf  Antiviral human protein produced against viral infection
D) Antiviral protein produced in cows in large scale,

614 |
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104, vlguwe Iep uliguée e e sflursan Gurgsdés Sps eilodll Gerer @BHseflar

gt sfiura alenLawus Caiea Glaws -

uligwey I Ul guwes II

a) geop 1. emeuyen

b) GHDbUD 2. aneuGréve

c) 2_&fl @ Hibub 3. NG

d)  eg@een 4. el Qeor.
GOl B

a b c d
A) 2 3 1 q

D) 3 1 2 4.

Match List I correctly with List II and select your answer using the codes given

below :
List I List IX
a)  Order 1. Virus
b) Family 2. Virales
c)  Sub family 3. Viridae
d) Genus 4, Virinae.
Codes :
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105. AGLmapgesr whmid e eyg e aetLae

A uCrmawev Qprdlamen oL &easucievensy

B)  &luGuevey Qprdlamer o168 aldaamel

C) FWDTHS Fal 108 CBHTETEHD HEETEOIDEN L &HHELGIGED
D) flerev LymevdfluGLen Gprdlaow si_sssideensl.

Zidovudine and Lamivudine are
A) [Inhibitors ol proteases

B) Inhibitors of Lipases

C) Inhibitors of self assembly-

D) Inhibitors of reverse transcriptase.

106. ulgwé I g uiguée IIa e sflursl Gurmsdls &ps @bl Geien widluihs.

Qg tueme dé stlunest allene ows Caial Glais :

uigues I uLigwe II
a) savorgud alleud LGeTmeliLn 1. umevesti
b)  #rlgeme @eure 2. Quigdiens
c)  emeuysTL{HSHE 3.  oTaremiey
d)  Aflwresren 4. pUetigcushy.

@é]&f@&sﬂ :

C) 3 2 4 1

D) 2 3 4 1.

614
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Match List I correctly with List I and select your answer using the codes given

below :
List X List II
a) Contagium vivum fluidum 1.  Prusiner
b)  Satellite virus 2. Beijerinck
c) Virusolds 3.  Kessanis
d) Prions 4, Randles.
Codes :

A) 2 1 4 3
B) 2 4 3 1
C) 3 2 4 1

B2 3 4 1

107. Hlevmgesr arergud 2 AT &G&maell @eueurny Qe wdufding

A)  seunssosd sOSHFDE
B) scuale Gewdur e goall(dna
C) OQedsarr gurflueus shsHng
D) Plusels Hbled surgreumsd sHeddns.
The antibiotic Nystatin acts on the target organism by
A} inhibiting respiration

.B)  upsetting membrane functions
C) inhibiting cell wall synthesis

D)  inhibiting the synthesis of nucleic acids.
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108. Ulaeumevaeubmiet spedim wl b 1158 @mu wwuau@sdl C O, @ §H&

109.

110.

111.

spellaGarrsens Llabidlasing:.
A)  mréuLrd B) Gy

C) @CemrCrrllenéad D) Guédléveen.

Which one of the following is a photosynthetic bacterium which uses H ;S to
reduce CO , instead of water ?

A)  Nostoc Bl  Chlorobium

C) Chloroflexus D) Bacillus.

2 Wi greurhisetie L wipod el Hglanral LusLRSSILLL uréeflub
A aCrurswellub @GS ueren B)  dlenreavgflub Glerng e

C) GepGsrmQumrerev d ey D)  Gudlerevev Olsmwumevesrelu.

The bacterium that has been extensively used in the genetic engineering works
in plants is

Y Agrobacterium tumefaciens B) Clostridium septicum

C)  Xanthomonas citri D)  Bacillus coagulens.
SEP&H&ETT_cuhmIe 6T peiinl ‘O TenbeT" 246uen ?

A} oy &Gewlur B)  wGusuefiur

¢ wCeflur D) SermemGL..

Which one of the following is not a Domain ?

A) Archaea B) Eubacteria

Cj Eucarya 21 Plantae.

Bleng Camgris 2 Giflashieer

A) S5Csemen 2 pusbd) Qendldmes

B) Guaameae o Qersier LuaTuBidedlarme

C)  urdfls oflagans 2 busdl Qeudlamen

D) ariua Curaimsamavanl 2 Husd Celdlenet .
Methyloirophs can

A} Produce methane ) ~ Metabolize methanol

C) Produce formic acid D) Produce carbon monoxide.
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112, Oy AGudses eraub Qemey @diug)
A)  srssaor QETdHEsa
B) b Oprdlsse
C)  Qarapuyl Gurme: 2fled
D) Gergpiy bhoib erssans sbgb oyflad.
The term Putrefaction’ relers to the breakdown of
A) Carbohydrates v3)  Proleins
C) Lipids D)  Lipids and Carbohydrates.
113. areunhsmens sraGd ursefliurssaerd updlu e sapnsaens smeans.
L. S{euGHET FTneOoIeHeT. e Cou emeusmer QlewhHens zal ahle
UENTHE (LPIGUD.
. seeusel allok@eaneTuhd &M & e ne.
L syamibeet sLGLTgid Géé) eugeupd sesillmpaamerl QDD EILIT &eyib
2_6ienest .

V. e Slev gally srgnyeosinms dlrd Cmeliqe 96 2 6mene.

Gleuppyet
A) smarsHgn eflureaeu _ B) L I wbod I efwresrsmeu
C) L HI who 1V eflurereney D) I 1 opos 1V gfliurerenew

Consider the following statements with respect lo phytopathogenic bacteria :
L. ‘They are saprophytic and hence can be cultured in artificial media.
I1. They do infect animals.
IIl.  They are invariably rod shaped and {lagecllated.
IV. They are gram negative with a {few exceptions.
Which of the stalements given is / are corect ?
A) All are correct B} I Il and III are correct

2] 1 1l and IV are correct D) 1L Il and IV are correct.
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114. g@@s:w@é,&uuLl__mﬁ)@Jm 6PN 2_CTOIED SYEVEV.

115.

116.

) gyieGawralles 2eien flplys saew wrlhs Qorpluys &5 vl

cusmswler @lenest&eliul. Hefeng .
B)  eyf&Gadlur o tiflariesellar Cadeaeaufle QuUugGLT Heaneraess @eveane
C)  oraGafiur 2 Wflemssr Qawiu aflpbllsaTaayd, e alpbisertseyb
Sjeveug 2 U allmbSlsenTaand 2 arerent.
D) de fCse 2 pusd) Qalueneuwms 2 sieres.
Which one of the statements given below is not true ?
WA Archaea contain distinctlive lipids which are linked by ester linkage
B)  Archaea have no peptidoglycan in the cell walls
C)  Archaean members may be thermophile, acidophile or halophile
D)  Some are Methanogenes.
sfludle wry wers Caudnrm sflogaopl LuaTLRSS gefléssdlou Gaudls
séglures wromb o diflab Geurny epdsiu@Eng.
A) Burl Gurm oy GLmgmi B) QGumlGim @@)‘L'_LQ,@UWL&}ULI
C)  &8uwr sy GLmgrd D) FGuwr QamiigCymgyi.
A bacterium that requires a carbon source other than CO,,. yet can convert light
energy into chemical energy is called as

A) Photoautotroph .,B'J- Photohelerotroph

C) Chemoautotroph D) Chemoheterotiroph.

Oletr eumenest eubmyell 2 ctstemowbngl 6§l 7

Al GuriGum U CLrgpusy gefldssdoun nusuGedl afluble urysme
&S0 Ole LiFlemet

B) GurmiCLr Qan'gGrrgricu seflewd uustu@sgidlsdiper Gued emrues
epevid QeuefWellmher Caameutiu@Hlna

C)  #Curdllz@amgyiay geflown LusuBsE saflt Cetbmaanmens LweTURHSS)
CO , gy amiGuraan. G Gaems FlaelLBdgslerpe.

D)  &£8ur GantyCrryggrusy ssdouyd sfvgosyd Gy afl Garamauile
Siwba Cupdlde.
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Which of the following is not true ?

A)  Pholoaulotrophs use light energy to reduce CO ,

B) Photohetlerotrophs usc light energy but require outside carbon source.

{QT Chemolithotrophs use light energy to oxidize inorganic substrate for energy

to ix CO, into carbohydrate.
D} Chemoheterotrophs obtlain energy and carbon source from the same

organic moleculce.

117, ulquéd I g utgud 1T 2 e sfluren Guresds £pé eRuil Gaer eEliHsefe

g duenl. bldy eflure aflen_eows Carea) Glaws

ulgwen I _ Ul igwes II
Q) ey BememneuLmé 1. uredlfl&aden E
bl S Grurdr 2. QL &eul e
o Cudlseey Oiflafew 3. &¥lgé efleud
d)  Cudldievav Carméveug arev 4. esCrrHangdle.
GBlSpeer :
a b c d

I3) 3 2 1 4
C) 2 3 1 4
D) 3 4 1 2
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Match List I correctly with List II and select your answer using the codes given

below ¢
List I List II
{ Organisms ) ( Products )

al Leuconostoc 1. Polymyxin £

b)  Acetobacter 2. Dextran

¢)  Bacillus brevis 3. Vincgar

d) Bacillus colstins 4. Tyrothrycin.
Codes :

‘A2 3 4 1
B) 3 2 1 4
C) 2 3 1 4

[9) 3 4 1 2.

118, ‘opl Cr@uaLi agyd urdefurare pel Qupn Caglallmarowus Csiey
Ola ey,
A) €O (NH,), +2H,0 - (NH,),CO,

B) (NHd)TZCO3 —>NI~13+C02+H20

C) NI'14+202~>N02+21-120+E

D) 2N02+02—~>2N03+E.

Identify the chemical action performed by the bacterium Nitrobacter.
Al CO(NH,),+2MH,0 > (NH,),CO,

Bl (NH,),CO; — NHy+CO,+H,0

4)2
Q) NH,+20, - NO,+2H,0+E

B) 2NO4,+0, - 2NO5 +E.

614
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119. @ren® blGeam giblevhiger GememtyblLm(pg @hs cpevdanmy GleusMiu@in.

A)

C)

CO,

B)

19))]

0,.

The molecule liberated when two amino acids are joined is

A

C)

11,0

B3)

)

0,.

120. sm Opréidle yrab @dars ued Gleurn oepsslufins.

A)

C)

Camme@iprél
@emesat Qg

B)

9]

GuTQETHl

Qe Ciprd).

The non-protein part of an enzyme is known as

A)

uc]

~Holoenzyme

Coenzyme

B)

D)

Apoenzyme

Alloenzyme.

121. Oy fler sievevg Wby erapotr Caibg mba sriuedisel CereL aifdaemn el

jemp el 7

A)

C)

Bly e Cuimeni_ L

by deflé epbleun

B)

D)

Bl defGuirene

2 01Casm pdlevd.

Combination of a purine or pyrimidine base with pentose sugar is known as

A)

C)

Nucleotide

Nucleic acid

BY  Nuclcoside

)

Amino acid.

122. Qargpliy spbleviiselles Sn gy sellmyed g mem_GuUpdng ?

A)

C)

dlenen gy berdlGa i

sy GUTG T

B-oxidation of fatly acids takes place in

A
Q)

Glyoxysomes

Ribosomes

| 614 |

B)

D)

B)

)

Quyr&edlGend

1§ &g QurGien.

Pcroxisomes
Dictyosomes,
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123. evalll i owell erestug
A} ehg WDt sremwud Gévers b mybleud
B} edii Slet semn Qeraom ouflGam guflewd wl Hin
C)  Guidler aeow Gerer:  ubGam gybflsun 171" Hib
D) Cuitr whoih e £l bled semweet Qarao. oblGeann gubleud.
Zwiller ion is
A) amino acid with ne charge at all
B}  amino acid with negative charge alone
C) amino acid wilh positive charge alone
\PH] amino acid with posilive and negative charges.

124. s Gersealldan Qurups ©Nss oblGan aufivdms D@D, 1§ 2y eresgulss

(pemestleysien &y @lemedst suflens argy 2
A) CGA - Bl  GCA
C)  Ccca D)  GGA.

The prime end ol tRNA molecule that picks up specilic amino acid during protein

synthesis always ends in base sequence
A) | CGA B) GCA

L)  CCA | D)  GGA.

125. Hlésd @enallatrd ghuideus erg; ?

Al Geveupeidles @mnsGrmendls B) uéemow Gorans,
C) @®lolbsaan D) samhasia BULb,
Ni(;kel deliciency results in

IV,,A]‘ Necrosis of leal tips B}  Chlorosis of leaves

C) Dwarf{ism D) Elongation of shoots.



126.

127.

128.
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dlanenCarrallalley erestLgest mGlLW
A) QT T QI &g S etneny LITeng B)  @ernd ureng
C)  Gryy géedaran LTang D} Oamé e Il urens.
Glycolysis is also known as
A) Warburg-Dickens pathway B) EMP-pathway
C)  Direct oxidation pathway D)  HMP pathway.
eoLmals oflesde @mha o Car'A' Ghs Hiflow aped GupliuGSnE.
A @ODESILHS® B) & Bastu@sd
C) wumrevullGevayet: D) eydellsgemr 1gamiumedlGovayes:.
The formation of Acetyl CoA from pyruvic acid is the result of its
A)  Reduction B)  Dchydration
C) Dephosphorylation J7) Oxidative decarboxylation.
Aeaaip Qedadlan seugy® LTadHe SipHsD 25 atm bHnbd eloniy Syuwdsd 15 atm
Bedgim Qeeelles seugu® ureyses SwHsd 30 atm wpmd elleply pdsid
10 atm. Guheam, Cedsealls GoLBu samest abhs Ceddlallmha ahs
Qg duadlih@ Ul Lyeyd 7
A)  Qeé Al Guphe Osé B
B Qs Blld Qumha Gad A
C)  Qeé Alle Gimha Oeush susfivason. e
D) Qsé Bullmha Geued eusfivesomeud.
If cell A has an O.P. of 25 atmosphere and T.P. of 15 atm and cell 13 has O.P. of
30 atmosphere and T.P. of 10 atm. then movement of water will occur from
Al Cell Atocell B B) CellBtocell A

C)  Cell A to outer atmosphere D)  Cell B to outer atmosphere.

\T:‘»ﬁj I Turn over



BOUG 28

129. &psmesore. sursdlunisamensd seueh :

130.

gnbmy (A)  getl gmadles fauty uedllss gpefléCaraameaiian Sipan @ameug,
flouli] @ensHe aain Seopssiudns.

srgaod (R): dleuty uedlutd ghu@d galéGersmaler dnedr @wanpaugen,
Gophs Aoepasdlaeier gellows Ceguisussr peib,
penECeibmasd Spomar sflafliiug awied mbad Hlopss e
2 PEHSULIEEIDS .

g6 Qar@ésiuul.Gerer GOUIRse b sfurea ale_ows CoibolsHes

Al (A} wdmpn (R) e &fl, Gueyid (R) erstiug (A) elhe sflurer alenéed

B)  (A) ohobd (R) @yesnGon &fl, Cueyd (R) eretrug (A) ellivg eflurer allenéabeien

C) (A) sfl, gyemren (R) seunmy

D) {A) popid (R) Gyeor(Hid &eupy.

Examine the following statements and identify the correct answer :

Assertiont (A} : The quantum yield of photosynthesis declines in red part of the
spectrum and it is called red drop.

Reason (R} : The inefficient red light region could be made fully efficient if
supplemented with shorter wavelengths and this enhancement

of photosynthesis is called- Emerson’s enhancement effect.

Now select your answer according to the coding scheme given below :
‘j’(] Both (A} and (R) are true and (R} is the correct explanation of (A)

3) Both (A) and (R} are true. but (R} is not the correct explanation of (4)

C) (A) is true. but (R} is false

D) Both {A) and (R) arc [alse,

HTHN DD Geursd @ebeurn Gl&sILED.

A) 6CO , + BH,0 - C gH [,0 5 + 60, + 1HD&
B) CgH 150 +60, » 6CO,4+6HL0 + bhméw
C) Cgll ;05 » 2C,H OH +2CO, + Hybmes
D) 2C,HgOH+CO, = CgxH ;045 +yDm6b.
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Anacrobic respiration is represented by
Al 6CO , + 6H,0 > C ,H 1,0 4 + 60, + Energy
B) C4H |,0g+60,—> 6CO,+6H éO + Energy
£} C4xH 05 —» 2C,H50H +2C0O, + Energy
D) 2C 2lvi 5OH + CO2 - C 6“ ]20 6 t Energy.
131, pifles @eeoiy eflans ergeomes 2 o rdps 2
A) BT pevdampseilen @lenl Gu 2_alen maUnLTanesT &)6n et
B] Wi cpevdennmailcn @lent.Gu 2 siten Glanemt eugyGleuaso @mmuq
C) Fuéeb @seib Geassla @em. Cu 2 6en emang o @leneasrli
D)  prreld Gurde @pemeu.
Cohesive force of water is due to the presence of
A Hydrogen bonds belween water molecules
B)  Covalent bonds belween water molecules
C) Hydrogen bonds between water and xylem cells
D) Transpiration pull.
132. msailgeaiar Ceudlu gaan aaen 2
A)  6-uriyore ewCerr Uy e
B)  6-uriyenpé eowlearm MBI
C)  5-uriyené yenwGeorm iy fles
) S-uriyegd ewCer OOl we .
Chermnical nature of kinetin is
vﬂ}” 6-furfuryl amino purine B)  6-furfuryl amino pyrimidine

C)  5-furfuryl amino purine D) 5-furfuryl amino pyrimidine.
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133. owl Gurerangfludg aanslgrar sLsse Hlepsdlle assoa @Lusa6

ursvuflGevayes meo Glundlng 2
A) 3 B) 2

How many sites of phosphorylalion are there in mitochondrial electron transpart

system ?
v 3 BJ 2
C) 1 Dy 4.

134. yrsé Corsenss@ Cameuwre aeainb eg 7
A} sTSUD B)  shesbd
C)  wéesfdud D)  eobLliysped.
An element cssential for protein synthesis is
M) Calcium B) _Sulphur
C) Magnesium ) Nitrogen.
135. Gueanas sreurhimsic, Caufler abal ueddle epaud gaflohssr 2 dghelubdine E
A} suenidladast 2 aen @b B)  Geult cpg
C) Bl eueniéd) pL&GD @b D) Geuid glrraﬁ}..
Which part of the roots is involved in mineral salts in higher plants ?
WKX) Meristematic region B) Root cap
C)  Zonc of elongation D)  Root hair zone.
136. &pésaneubpet Curly s@uy Geuase ag sflurs Qun@hbgb ?
A) ES+1 = ESI B) E+1 == EI
C) L+l -> El+S <> ESI D) S+1w> SL
Which one of the following is correct in respect of competitive inhibition ?
A) ES+] > ESI B) E+] «®» EI
C) E+1 == El+S &> ESI D) S+1= SL
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137. dpseatil seupbpiel ehs Hin spefl Glemasaenetad Einds o saib 2
A) el B) gy dleudy
<) Meud D) luésme}.
Which one of the [ollowing colours ol light is cilective in stomatal opening ?
A) Red B) [Far-red
.,/C] Blue 13) Green.

138. Gf@éaﬂ%b'{fml. suTHH ke enend sauat

gamin (A) L matliot Quirgl emend: sLGscshG. Brrall Curée wpadlu kg,
cushlédng,.

sryesid (R} Buredll Curde, FErPoUSHE 2 sapudlhene.

S8y GlarRdsuul_{sien Gt aped aflura allanlsowug CarpGiedés :

A) (A) efl, gpeoimen (R) seuy

B) (A) woHmn (R) @reorHid gevuimy

C) (A whoud (R) Guess@in afl, Cuayik (R) erddiugy (A) elibe efluren allenéande
D) (A) vppe (R) Greoo efl, Guepn (R) erasiug (A) allpe efluren allenéaih
Consider the following statements :

Assertion (A} : Transpiration plays an important role in translocation of mineral

salts.
Reason (R} : Transpiration does not help in ascent of sap.
Now select your answer according Lo the coding scheme given below :
W (A)is true, but (R) is [alse
3) Both {A) and (R) are [alse
C) Both (A) an.d (R) are true, but (R) is not the correct explanation of (A)

9]} Both (A} and (R} are true and (R) is the correcl explanation of (A).
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139. fleuhs veers CeraiL bSloheTEr HTUTSHDS, Gloustaner wawanTd ClamesL

sTaTHILE soal Qebslurg wed smewoplies @eTerdleiiy MD wefser
Canraidluens @eLeuTn HeLp&HaHeoTD.

A) @@@rﬂemsu B) gl Slemamiing
C)  papsow Qupr RiGHieme D} ©nsts sabsd.

When a red-flowered variety of four O'clock plant Mirabilis jalapa is crossed with
a white-llowered variety, all the I | plants are pink-flowered. Such a cross is

called
A7) Dominance B) Linkage
9 Incomplete dominance D) Crossing over.

140. &QgrGurGsrn s@d wrppsflamed &CrrCourGenbeast 2 e _ULLE. 2 el UL
ger_n  Ceun gpdleosas olrrGurBsaropLdn  @eemieusms  Geleumm

S0 PHSHLILEHSHDE).
A @rlglyssi B) d&sb
C) @wrhod D) goedp Slimlb.

Due to chromosomal mutation. a segment of one chromosome breaks and is

transferred to another non-homologous chromosome in a cell. This is called
A) Duplication B) Deletion
~C) Translocation D) Inversion.
141. ABO @68 ugllaheamend: eeooLDhgear
Al @)eTib. merul B} 4.5 wedenn
C) SIS ST GOoTL. eNvLe Tt D)  eumren ellefeurilLd.
ABO blood groups were discovered by
Al E. M. East B} C. E. McClung
) Karl Landsteiner D) Von Winiwarter.
142. &Qyp Qan@ssiul Qeter s wrpphiseie, @g yetel sRdl wrHDD.
A) UMDIT & (& eOD B)  @rlglusst
C] @LwurHpo D) ggretevoleuaye.
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From the following types of mutations, the point mutation is

A)

Q)

Deficiency B)  Duplication

Translocation ) Transversion.

143, Sphaaoil suthdluisaen s sl

shn (Al Gokud Dedsmemer all. udbwd Qasd Guiflu Ky dellusmey

QubPmé&dlama:.

sryenn (R): flysdlusvedear genq ©CrmlerGsrhaalled oo awfléammenwls

Qlurms g 2 smengy.

F8p Qem@ssiin Geien @OiGest wen eflura el ows CaihosdHas :

A)
B)
C)

D)

(A) v (R} @yecorGio &, Gueyib (R) eraiug (A) aflhe sflune alerden
A) obon (R) @yesor®n sfl, Cueyid (R) ersiiugy (A) elibe sflumer allen seweue
(A) o], gparmes (R) seum)

(A) seun. gyeime (R} el

Consider the following statements :

Assertion (A) :  The polyploid cells contain larger nucleil than the diploid cells.

Reason (R) : The size of the nucleus is related with the number of

chromosomes.

Now select your answer according to the coding scheme given below ¢

2

B)

\

C)

D}

Both {A) and (R} are true and (R) is the correct explanation of (A)
Both {A) and (R) are true, but (R) is nol the correct explanation of (A
(A} is true. but (R) is false

{A) is [alse, bul (R) is true.

144. @ ©CrmuCern Cmigllée, weénée Gopulc yselsele onsts sapsd

FHULLLITEL. DS @IeUeUT[) emp&HeHETID.

A)

C)

SDODE @NI&GSSIT LTHDD B) @l @nsdsslt wrhmib
apedTny @GnSEOGSIT LTHDL D) ueainLhE GnsGsHT brHDb.
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145.

146.

Crossing over lakes place in more than three points in a pair of chromosomes.

This is called as

A) single crossing over 13) double crossing over
C) triple crossing over 1  multiple crossing over.
s@RHTHDS GarsTansearn @lanm (pen@uomSlibsr
A) BULDITIT & 13) it g6t
C)  emevl alevuoes D) edlyGamgaiifley.
Mutation thecory was proposed by
A) Lamarck B) Darwin
C)  August Weismann B Hugo de Vries.
“@enr Qv Guremlu LetUaer wyLTe QGTLrdldTne. guaiTe 2 Ld Lisasfda
ghu®n orpiiGee 2 lflan GonaedGurg ufibs IHDg." @bs alerédesenss
Qg TemeTau '
A) SQULOITH & B) i edles
C)  smaul. aJavGuwed D)  aflyGemgailfy.
"Germplasm continued through successive generations bul the soma came to an
end with the death of the body.” This statement was made by
A) Lamarck B] Darwin
J2) August Weismann D) Hugo de Vries.
| 3!
h MWA )
\ 5
%

Sy Gevpdie yHlu Qe abs domadle @BHal 2 keurdlame 7
Al 355 Hae : BY 5' 5 3! daws
Q) 3" 5 3! flens D} 5" - 5! devs.
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In which direction synthesis of new strand will take place in leading strand ?

o e
b WM J
\ | 5
%

) 3 = 5/ direction B) 5’ 5 3! direction

C) 3! = 3! direction D) 5' > 5! direction.

FP&HSHEOIL. euT&Inhisemend Heue :
g bhn (A sreauy Gsasellea gflawre asdugauoreday paoL GLbDT,

ewel GLrilenmend Slerrevnr gciap e Cerng Ged seaemr il

F(HAGD BHlaede Varmevnmeaevdlen ereimm Gl .

sryemd (R): sdiqy scorasiang wlHd sLHE LD Hseieman HLESTI®
EIEhsTR, SBHE CLuT Senral Gl aeley.

#C QaTRéalLd Gerer @RURsst apan sflurar el ows CatbOs@ss :

A)  (A) opoin (R} @yedsi (i s, Guepid (R) erestugy (A) allhe sflures alenéan

Bl (A wdmis (R) @esapn afl, Cuaud (R) erstiug) (A) eYhe sflurer elenéance

C) (A) efl, syanmes (R) geuny

D) (A) peumy. gyevimév (R) e,

Consider the following statements :

Assertion (A) ; In plant cells due to excessive exosmosis, the cyloplasm along
with the plasma membrane shrinks away from the cell wall

which is known as plasmolysis.

Reason (R):  The membranes which allow only water but no solute particle to

pass through them are known as semi-permneable membranes.
Now select your answer according to the coding scheme given below :
A)  Both (A} and (R) are true and (R} is the correct explanation of (A)
WB) Both (A) and (R} are true. bul (R} is not the correct explanation of (A}
C) (A} is true, but (R} is false

D} {A) is false, bul (R) is true.
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149. Spéscior cursdlumsamens meue

150.

ahm (A D adleuGiraien  sry  LpgRseand  arg. gOemapre e
il whnbh oodlda YHGair Hyflewhmsst oflanrs
o_&lTement.

sryeoid (R) @ yiedlevenas LHmID enevdlest ol @)yaurHib. s eanyrme el
LisHd& Criflaraen biGarm @puhsmens Glem e Heteares.

SGp GarRealuGeian GHIEsst apen sflure alolswg CaThOsHdHe

A) (A whnd (R) Qressiio efl, Guoeyid (R]. arasrugl (A) el eflures afleréan

B)  (A) whmm {R) @ras@n ef, Gueb, (R) adrug (A) eSibe sfura afarésnaa

C) (A) afl, geomén (R} geum

D) (A) seun, syestven (R) .

Consider the following statements :

Assertion {A) . Histonés are basic proteins because of high proportion of the

amino acids, arginine and lysine.

Reason (R) : Both Arginine and Lysine have positively charged amino groups
al neutral pH.

Now select your answer according to the coding scheme given below :

.4  Both (A) and (R) are true and (R} ic tiie correct explanation of (A)

B) Both (A} and (R} are true. but (R) is not the correct explanation of (A)
C)  (A)is irue, but (R) is false
D) {A) is false, but (R) is Lrue.

uredest GGrrlurGarbaeies 2 6o Lraflurel umetwgdle SHdlawrs

ST eoTILI(HeUS)

A) 1. .6T651 .7 . WOMUD 6T BT 6T6b .6 .
B) g .ecti.g. bOOD YT T 6160
C) g.ecteg. wdHOIDd @ i .67 .6,

D) 1§ .66l . DDMUD GTEVETENT By iT .61 687.6.
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The Balbiani rings of Polytene chromosome are rich in
AF DNA and mRNA B) DNA and rRNA
C) DNA and {RNA D} DNA and Sn RNA.
&GrrGuorGambdley s ww CaT@ley Blsuculny e psHaaTb.
A) e B)  Senming

¢} 8emid D) YGeireLu.
The haploid set of the chromosome is known as

A) Gene B)  Ploidy

27 Genome D)  Phenotype.
Syirerasieralley o _sften eohay HTiLE & SHaoaydle Gluw

A} gurédlenyGumen B)  eeeuGerey
C) s Gumeny D) grdCesirsty.
The five carbon sugar present in the RNA is

A) Deoxyribosc B)  Xylulose
€Y Ribose D) Raffinose.
A=T: C=G aap aliflows ecmBbseurt

A) Camené

B)  Gubev curlee whrud Syresedlen dlifls

C) ST &I

D)  Guwenflev allédleren whmd Gyreumelessr. SNymédledler.
A=T; C=G this rule was proposed by

A) Kozak

B) James Watson & Francis Crick
L) Chargaff

D) Maurice Wilkins and Rosalind Franklin.
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154, ageamifseida g arscnsefle sramb 2 GomamL uge geaias ey

- P HHUILGSIDE.
A)  F | giseisen B)  dlgmeor
C)  &eunaiGLrGeumibael D) &Ué,@ml@@@&,eﬁ.

The inner membrane of thylakoids contain spherical particles called
A) F | particle B) Grana
»C)  Quantosomes D)  Secretory vesicles.
155. By seflumt sy GHs Coudll Qurmente By a8
A} sible yysd B} &my ypsi
C)  &uGur yrsb D) umenGur yrsb.
Chemically the nuclear membrane is made up of
A) - Acidic protein B) Basic protein
,C}. Lipo protein D)  Phospho protein.
156, Corale snl Hny @bl 2 eierg.
A)  SepGurenul Gl B) GufGLreul Gaet
C) L (R 65V & & €11 D) L&D BN eujhGer.
The Golgi complex occurs in
A) Bryophytes B) Pteridophytes
C) Fungi P)  Anglosperms.
157. By &efCureeman (paedldr &eoorLibgeur
A) SoNem ol B) gy e Goe
C) Serogr D)  SolumedTimenr.
Nucleolus was first described by
A) Flemming B) Altmann

Q) Fischer £ Fontana.
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158. &Gyrigermige 2 orer sGrmiest wpopus erpGerile Gremn GaaL e

QETL TyemL_wesew,
A} emeulLble A B) eeauliflén B
C) eeuLiflar C D) eeul e D.

The Carotenotids arc carotenes and Xanthophylls both of which are related to
Ha’(} Vitamin A B} Vitamin B
C}  Vilamin C D)  Vitamin D.

159. &G Qem@ésiul.Geren eplyme srrhseile, ag @TETH U 6TWLLES 6T S

Qlara@miL cpevsgnm)
A) S| R EBT B] egemwesr
Q) &5 QL_mema b D) yprdle.

From the given nitrogenous bases, which contains two rings of atoms in their

molecule ?
_ A Adenine . B3) Thymine
C) Cylosine D) Uracil.

160. By &elluedles 2 eiten Gren® seuaysellar GeoLules 2 eier GL Geueurmy

2o P&eULIGEDE.
A) By beflwrt @)L B QLo
C) Quiiblysellwrt @ o D)  Qumevl Blyéedhuri @ .

The space between the two unit membrane of the nucleus, is known as
A) nuclear space B) space.

€Y Perinuclear space D) Postnuclear space.

161. @psl uren Guibilud, yaldluwe, Geauddue, o Biflwe, sugerm, GQurmstraryn,
2rélue, el b, Cuarauamw, sraraiud @Gpoleaulue, @phlae Gurddiud
Y H HOTHHG HODHEHL D QBTLT L WE. @8 TheL uTLD ?
A) 2 IF-Caudlflwes sevall B &ppéepe fiallud sdwal

Cl yalblwes seal D) e&bpéepe Qurhlllue sdall.
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162,

163.

This study includes Physics. Geography. Chemistry, Biology. History,
Economics, Poliﬂcs. Law, Management, Botany. Environment study.

Environmental Engineering. What is this study about ?

A) Bio-Cheﬁﬁcal study B} | Environmental Science Study
C) Geographical study D}  Environmential Engineering.
@&l m Curfieuren &L BT LIGUTLTGD. G og ?

A) sreuot Qesril &dley Bl  eumy &dley

C) alusmsen D) el

This is a disasterous marine pollution. Whal is it ?

) Oil slick B) Gas leak

C) Accidents D} Tsunami.

uligwé T e ulgue e e eflural Qurpsdls Sps GO Geren @dliHaef s

2 iuet e sfluren alleLewg Coiea) Clais :

uligwes I ulqwé II
a) uwellgalda Cuis 1. 120dB
b) BIHNY eOF 2. 140-170dB
¢  eflorerd yptL@se 3. 30-50dB
d) gamoen yDUUGSS 4. 30 dB.
GOlpser :
a b c d

B) 3 4 2 1

C) 4 3 2 1

19)] 1 2 3 4.
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Match List I correctly with List II and select your answer using the codes given

betow :
List I List IT
a] Speaking of Man | 1. 120 dB
b}  Sound of clock 2. 140 - 170 dB
¢)  Starting of an aeroplane 3. 30-50dB
d) Salellite Launching 4, 30dB.
Codes :
a b c d
L 3 4 I
B) 3 4 2 1
C) 4 3 2 i
D) 1 2 3 4,

Serey wrsUTL I eTey, 80°C &b Coé Bl Qeulund oflefesgb Gurg Bl
mé&Ss@ e HNbleordng. hs HEe eraren 2

A) @(S&rrsér B) g-oedlan

C)  sp-somellesn D) Co.

Due lo thermal pollution, water géts hecated up around 80°C and results in thc

release of a poison. What is it ?

A)  Ozone BJ O-Sylene

C) O-Xylene D) CO.

Qevasetler Geudlflud el G QUITGHTHeT kG Bloabd sHHEGHH Heiamweany
GDI&SaD, DTHFUTLGET eTenaush GDISHaD Genas LuaTURESTDT. Bjeme WTae ?
N T Bl  AS@sen

C) wreyssshg ) D) &Cem@rmselie {A) wpmn (B).

Chemical composition of leaf has widely been used to indicate environmental
conditions, These components have been measured as index to different types of
pollution. What are those indices ? ‘

A) Proteins B)  Lipids
C) Starch D]  Chlorophyll (A) and (B).
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166. &)fle; Guearamoodle fleap ydu Gariur® ‘mpairy Ree'. Qo aoss

167.

168.

169.

GdldHlesimen .
A)  Aepen, AuGurir, femesdlsh B) QnGinyg, flepeu. Qgy,ev
C)  Qgyen, fye, Faesdlen D} Fyev. FGws, NCarien.

The '3Rs’ principle. is the new concept in waste management. What do these
'3Rs’ stand for

A}  Remove, Repair, Recycle B) Remedy. Remove, Reduce
€)  Reduce, Reuse, Recycle D) Reuse, Remake. Resource.

Gﬂl'_l_ﬁgll_L_. 43 L1 Bleogd @Geour swGerl ary oG 4idebsnae
Qgrifiharereuledphe adbsg. @bs Guyae Geieurn sapdGnirD.

A QrGamsmud eury Guiyfley B) a&@guﬁ]sﬁn sumy Guy ey

C)  ooy@adlor cury Guyley D) Gumrumes sumy Guipifley.

The leakage of 43 tons of methyl isocyanate {rom a pesticide industry was known
as

A) Chemobyl tragedy B)  Ukraine tragedy

C) Fukishima tragedy ) | Bhopal Gas tragedy.

S cusmalleviu@ syamITeWD ehiEGeTeTS ?

Al DG T B) prepevgmes
C) (LptD 6Ly D) eors.
Where is the Gir Sanctuary situated ?

A} Mysore . B) Rajasthan
C) Mumbai J¥  Gujarat.

goydhyh, Uener, REFD, SDHDTeP, QgaTenen, ym&eb, Yauysd @leneal HenelGgb

@IbseUDEE HTLIQ greLRElEDT. @ihs fuansd RGN G e ?
A sgy Hled ar@ser B) GarenhGamiiser

C) s_bhaors ar{esl D) &mps srlsel.
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Casuarina. Borassus. Phoenix, Pandamus, Cocos. Pongamia, Thaspesa are some

of the common plants of this type of forest. What is the name of these forests ?
A) Mangrove forests B)  Coconut grooves
£)  Beach forests D)  Social forests.

Qariie Geaurseaersd GeardsL Hla dyen sTRselld uanGD  epil{ e emiie e

GumbuTeyd G)hs STOUTEH EODURGETE EMiTThSENEIITS 2 6l 66D,
A)  gGré) whmid spensGyé)

B)  orCamGand) wpoid GuaTafiCud)

C) gGrél whmd oy THCL EGw

D) el IuGLd) whmd oy fdC 8.

The aerial hanging roots of many tropical epiphytes mostly belong to these
families are

A} Araceae and Onagraceae B} Annonaceae and Opuntiaceae'
CJ  Araceae and Orchidaceae D)  Asclepiadaceae and Orchidaceae.

‘GBSO eTTLG THDE 2 SHTEwID ?

A} georeurp 2 Qifw shHEEpe Bl @meu 20 &hHdEpen

C)  sidla eiyemr 2 ITw HHMISEpen D) Gleuliuwessi e 2 WliTin &HOIEEpe.

‘Tundra’ is an example of which biome ?

A) Terrestrial biome BY  Polar biome

C) Tropical biome D}  Temperate biome.

samig Mo e ettt eurp sreugh. ogGure aiifleaiur o

Al afefGumsoemu G B)  GCapGardoenul @

C) eerGrmssemul( D} Gslumsesmul (.

Hyndrilla is a hydrophyte. similarly, Avecenia is a/an

A) Heliophyte A)  Halophyte

Q) Agarophyte D)  Psammophyte.
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173. dlev gragmssfla fo urausBeam gewg Wip sTagCur LHSHS. sas0 UHDIL @D

ble gatey plloas Collsbe omubss GaTaiab. @bs For 28ls eupl dule

Gurg 2 LCUTRGHS Qlarerdladine. Geveu ahs aUmsS STeUTRAET 2
A)  aupléls sresdldimha sullsas Caraiend sTeuTmseT

B)  eupstoiL dlev greunhigmean

C) sesliLbrysien sunedorL Hiew iU hise

D) sevsl UDDHD eUDEtHL Hlevd HITEUTHGHE.

Plants in which some organs become swollen and fleshy and store water for their

future use during dryness. What kind of plants are they ?
A} Drought escaping plants B)  Xerophytes
.27  Succulent Xeréphytes D) Non-succulent Xerophytes.

174. weor ifliy wenps gieflasnre goLbIns. Gleen Cuwi ereie 2

A)  piralpéd) opfiiy B) s sefeeflear <pfiiy

C}  weops @aﬂ&a‘ﬁdﬁ <oy D) B sytloy.

Soil eroston caused by the action of rain drops is called as

A Waler falls erosion B) Water drops erosion

C)  Rain drops erosion JI°  Walter erosion.

175. yuilder Qurss Hleoviuyiides Bepb Hlagpb ahs ogaiasdic o stere 2

Hleotd Bir
A 71% 29%
B) 68% 32%
C) 50% 50%
D) 29% 71%
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Whal is the proportion of water and land on the whole earith ?

Land Water
A) 71% _ 29%
B) 68% 32%
C) 50% 50%
) 29% 71%

176. oflaluGurl eratug,

177.

178.

A) up@euseTTa allemg LTayH

B3) _&axﬂ&m 2(He BTl wTSHe Bre@Curs allengsen (pamerHse

Cl alopaar srl wrssear Ba ephs (peneTéGn

D) &NewgeCen o_ctormeudlevemen.

Vivipary is defined as

A)  dispersal of secds by birds

B Germination of seeds while the fruits are still attached to mother plants
C) Falling ol seeds on the mother plant and germinating

D) There is no sced [ormaltion.

L&dl o @it sreughset, @he 55 Gonhs Hemsalle aerrdlape. o abs
85 7

Al ehesb B]  eoplyeed

C) Qurlinrélub . D) Gemgqub.

Carnivorous plants grow in the habitats deficient in this type of nutrient. What is
it ?

A) Sulphur JBJ  Nitrogen

C) Potassium D) Sodium.

STeciluh 2 eoT@mh Lhepesanen srsheun@ FayHCoID 7

A} Qarlel 2 enerileer B} Ll 2 corestiset

C)  greuy 2 cooenil el D) sreilu 2 ctremoisel.

What are the grain cating birds known as ?
A) Seed caters B)  Crop eaters

C) Herbivores : BT Gramnivores.
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179. @b Usélebiarael, 2 ewa endallidyy alldvsuenunmGsase Hobe TRSEEHTL (.
248l 6Ths s HaQemeed 1 |

A Ses QL e B) Guer@amenufesn
C) 1§ g1 D) QLLlgr eossdlefen,

This is an excellent example of pesticide biomagnification in the food chain.
What is that pesticide ?

A) Lindane B) Benzopyrene

7)  DDT D) Tetra cycline.
180. s e Bifld 2 l1fle sgaipn ereiauenea 2

A) 35% B) 29-5%

C) 35-8% D) 355%.

What is the percentage of salt in the marine walers ?

] 35% B) 29-5%
C) 358% D}  35-5%.
181. @bs 2wl Biflé appd) euraph sreurhseaies Geaaalab, s Rseflgid BHemTe |
2_(Beur flyeiemes .
A)  gllyenension B Gureiemswr
C)  @CeamQuyetensinr D) QGareerension.

These structures are very well developed in submerged leaves and stem

A)  Aerenchyma B) Parenchyma
C) Chlox.‘enchyma D)  Collenchyma.
182. @fNualar ahs s68 Lblle el asaos eubsamdng
Al up 2T sSlTGeT B) umfiésédagu gpefl
C)  @ebtooluym QL sl e D) Geoeu sEmargaib.
Which solar energy reaches the earth's atmosphere ?

A) Ultra violet radiation B)  Visible light

C)  Infra-red waves B) Al of these.
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183. coymelGaur sretipméy eraan 7

A)  yéo 3 _cooremll el B) Gaest Lp@uaTsar

C)  srailub 2 coremisel D) Uph&sT 2 etorellser.

What is meant by frugivores ?

A) Grass calers B) Nectar suckers

'C}  Grain ealers P Fruit eaters.
184. sr@eaei. yabeusilsei. Lreeaeustiget whnin Glewheans 2 wiiflar eurpallud oyemwbliy

- @lemeu DB HID THDG THEHSHHTLLTGD 7

A) B enips 2 Wiflen eurpeduc B) i srh Hle 2 ifler eurpaiuc |

C)  tlevd g 2 ilfles eurpalwe D) udi flevd 2 wifleot eur paiwe.

Forests, grasslands, deserts and artiticial ecosystems are the best examples of

which ecosysiem ?
A) Aquatic ecosystem ] Wetland ccosyslem
A)  Terrestrial ecosystem D)  Crop land ecosyslem.
185. 9@ QmuTes yoléd warhes Cersbome moL QUDUSHE WETTTH, BEIHHSMS
B&HGeUG 6TeUeUTN) HealpheslLGHEDS 2
A)  @ureugCevg et B) s CLr bal ReHseaTenn
C) Qeuslls seuliy D)  gremLoul L e@élorhon.
The removal of antlier from an intersexual flower before pollination is known as
A{ Emasculation B)  Cytosterility
Q) Out breeding D)  Induced mutation.
186. urgbuflu udlii QuEss Wepdle eraUURDh SaoLseer, bhs (PepulerTd
SHEHTHSTD 7
A}  dla euenriiy B) Jergge

C) &@d wrhmb D) Gaiey Qawmev.
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Difficulties which come across in conventional breeding can be overcome by a

technique called
J(f | Tissue culture 3) Fission
C) Mutation D)  Selection.
187. ardiullud arfifw L ereitug
A} Py Ceutd® g lieTTi B)  ga@Gaiad Lq.BGﬂr!’LfJ@l
C) PyGairé® QL yrlenmh@ D) gl Gautawp G gristri,
Gossypium hirstutum is
A) New World diploid B} Old World diploid
) New World tetraploid D) Old World tetraploid.
188. erpal ullfley, Garemst Gurl @ vl QupsHeSHDE LLSTUGSSILRSDE ?
A) &(HDY B) (Gipe
C) Hessoe D) Gargeow.
Axillary buds are used to breed the crop of
Aj Sugarcane B) Rice
C) Groundnuli D) Wheal.
189. s eumbdluhganens smeuedfl :
gnhny (A o Oufly eheeeas Qerau( Guol ol owsHg sl ureop alpodl
STEUTRIGHET QUETTULNS G0 (HETNY &M HEDLPLILITT &6 .
anjeood (R) @ @ré @m Qubess cualiyg Gl sHladn ef ST GD.
&Gy Qarfesiu@erer @ilifear wab sflurer alamLomus CarposHss :
A) (A wHod (R) Gress@id afl, Gueb (R) eretug (A) elbe sflurer alerésbd
B) (A) wbpd (R) Gresapn afl, Gueud (R) eretug) (A) ellbe sflurer aleréaweea
C) (A) efl, syerren (R) seumy
D) (A) wppb (R) Greso®id &eumn.
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79 BOUG
Consider the following stalements :

Assertion (A) : Mound of large stones planted with rock-loving plants are known
as rockery.

Reason (R) : Rockery is a part of landscape gardens.

Now select your answer according to the coding schemece given below :
A) Both (A) and (R} are true and (R) is the correct explanation of (A)
,B)' Both {A) and (R) are true. but (R) is not the correct explanation of (A)
C) {A) is true. but (R} is false |

D) Both (A) and (R) are [alse.

Byrnev eusmasmel Gbpepwld 2.Hugdh Cebwiufdlng.

A) GOk 61T B) allem g &6l

C) & I e D} corgGeumb.

Rose varicties can be propagated through
A cullings B) sceds

C) suckers ' D) rhizome.

sPlLsalld, Gout all@peare erbg cuen gpprdlusdl gramhding 1

A) 2, 4-D 3) 2.2-D

C)  eapdledle D}  ghluyedesr.
Which growth regulator promoles rooting in cuttings ?

A 2.4D B) 2.2-D

C) Ethylene D)  Gibberellin.

ahs euudle, LIHETE sémsamen Gt grisars olHsdoe Oslaushd

LwssTURGSHe0r D ?

A Sim LIGRGST - apatny eupLRssT  B) S0 bresdden GeDera ey
Cl ey axpLEsE@HE Coararameal D) oG LTsD - b LTHHEE.

At which age the seedlings of Mango. is used as rootstocks for grafting ?
A Six months — three years B) Less than six months

C)  More than three years D)  One montih — five months.
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193. yavGleuell yemwéds wemmemy usLLEHEDEUTWYE, waneahd flad st
BpbHeTed s U.Clansames gl amalufds LUETLURSSILEHD &TTD &g ?

A) Gemgwd emamgyTHens () B)  QurlLrdlud eamyrréeneu®
C) & OB GUBTTLDL D) snprasnhoen.

During preparation ol soil for lawn making, if the soil is acidic which alkali is
added to neutralize the pH ?

A) Sodium hydroxide B) Potassium hydroxdde
,,C/] ‘ Limestone D) Pebble stone.
194. Gamyéy emeuedt aTebiuGed Hreurewes Quint
A palevgearelav @)eng s B) Gurevaeeraleeblur
C)  suGumdlur D) e Cararmer ColGLrush.
The botanical name of coral vine is
A) Quisqualis indica B)  Bougainvillea sp

C) Ipomea sp J | Anligonen leptopus.

195. @bs s (s dlaernllen Gluwr

A)  swesl [ oUBédlaer B)  JerQeur (¢ Semen
C)  cumendlever sl [HéSlemen D] g ke Samer.
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Which type of grafting is named as

5 ccon

g bocK—

A) Whip grafting B)  Clefl grafting

W
C)  Inarch grafting D)  Approach grafting.
oI O eurenyp Goemeuune Qeulblewd@ ghu eeueurm sumalLRSHSILGSHDE ?
A) Vs Qeulivneameé seallsen B) QeullL vl ud Setlmar
C) BHlglleuliu weoTLavé sHeaflaer D)  uwellé salaer.
How mango and banana are classified based on their temperature requirement ?
AT Tropical fruits B}  Temperate fruits
C) Subtropical fruits D)  Alpine fruits.
soreulletr Gleg sl BLey ClelicusDE ehs HTed §ipbHes ?
A) speoteurt) - TS B) e - Go
C} g®ea - meubur D) geour - Guo.
The best season for planting jasmines is
Al January to March B) March to May
Cy  June to November D)  December to May.
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198. gurgdluter LHRDL SLTHE Gonhs Car@amert yagomrula @)y
2_(HEUTHSHMTLD.

A)  LitieoSlaey
B) wginlefhen
C)  oubsy Lasarew Heblan (b small apob Gl Had
D)  Oerphesd.
Alternale dark and light lines along the lawn will be produced by
A} Turling B}  Dibblings
Cr .chcatcd lawn mowings | ) Choppings.
199. el e VleTpid yewéslu@D srist 5 CHTULSemg, @eeurny SapdhaeTD.
Al peoperiha (Sg)rrL'_-l_Lb B)  opeoperyréd Gamilib
C)  Qubems sustliys GammiL o D)  sevvwsend ComLb.
The vegetable garden maintained in the backyard of a house is known as
A) [Formal garden B)  Informal garden
C) Landscape D) " Kitchen garden.

200. etdlar oL QUGS @ WEODHE. THHOE HTLEHE CULGOLL STDIG6N

iCE?en_n"re_f,rrrjrreafuL'J LWwesTURESHOMD 7
A) 1 — 2 mrilaen B) 3 —4mrisen
C) 5 — 6 BpTL Gel D) & — 10 prlsef,
For cpicotyl grafting, how many days old scedlings are used as rootstock ?
A) 1 — 2 days B) 3—4days

C) 5— 6 days D) 8-—10 days.
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